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Sub-Section Id : 53622867
Question Shuffling Allowed : Yes

Question Id : 5362281695 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (1 to 5)

Question Label : Comprehension

The following table embodies the details about the enrollment of students 1n five different
streams namely IT, Management. Commerce. Science and Arts in a college during the
session 2019-20. A total number of 3500 students including 1500 girls have been enrolled 1n
the college. Based on the data in the table, answer the gquestions 1-5

Stream-wise enrollment of students

Stream Percentage (%) of students | Percentaze (%) of Girls
enrolled (out of 3500) enrolled (out of 1500)
IT 20% 18%
Management 16% 12%
Commerce 12% 21%
Science 22% 11%
Arts 30% 38%

Sub questions

Question Number : 1 Question Id : 5362281696 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

What 1s the total number of boys enrolled in Management stream and IT stream together?

(1) 1050 (2) 810
(3) 1120 (4) 980
Options :

5362286601. 1
5362286602. 2



5362286603. 3
5362286604. 4

Question Number : 2 Question Id : 5362281697 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

What 1s the ratio of the number of girls enrolled in Arts to the number of boys enrolled in
science?

(1) 14: 23 2y 233
(3) 114 :121 (4)y 53:65
Options :

5362286605. 1
5362286606. 2
5362286607. 3
5362286608. 4

Question Number : 3 Question Id : 5362281698 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

What 1s the total number of girls enrolled in Science and Commerce streams together?

(1) 450 (2) 495
(3) 345 (4). 480
Options :

5362286609. 1
5362286610. 2
5362286611. 3
5362286612. 4

Question Number : 4 Question Id : 5362281699 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



If 20% of the girls enrolled 1n Science change their stream to management. then what will be
the new number of students belonging to management stream altogether?

(1) 593 (2) 733
(3) 453 (4) 1003
Options :

5362286613. 1
5362286614. 2
5362286615. 3
5362286616. 4

Question Number : 5 Question Id : 5362281700 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

The number of girls enrolled 1n Arts, Science and Commeree streams together forms what
percent (%) of total number of students in the college?

(1) 25% (2) =30%
(3) 40% (4) 60%
Options :

5362286617. 1
5362286618. 2
5362286619. 3
5362286620. 4

Question Id : 5362281695 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (1 to 5)

Question Label : Comprehension
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Sub questions

Question Number : 1 Question Id : 5362281696 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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(1) 1050 (2) 810
(3) 1120 (4) 980

Options :

5362286601. 1
5362286602. 2
5362286603. 3
5362286604. 4

Question Number : 2 Question Id : 5362281697 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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(1) 14:23 2 2:3
(3) 114:121 (4) 53:65

Options :

5362286605. 1
5362286606. 2
5362286607. 3
5362286608. 4

Question Number : 3 Question Id : 5362281698 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

fasT v ATtoreg Tt § v g1 Sige w1 Al st whi s S EhE E

(1) 450 (2) 495
(3) 245 (4) 480

Options :

5362286609. 1
5362286610. 2
5362286611. 3
5362286612. 4

Question Number : 4 Question Id : 5362281699 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Ttz 95 @99 0 =ihgen =4 Fre 20 99 SsRal A9 =9 F 9EeE 9 9gedl &l 09 (0o Teae
T @ Fataa faanfet 1 31 78 T = =i e

(1) 593 (2) 733
(3) 453 (4) 1003
Options :



5362286613. 1
5362286614. 2
5362286615. 3
5362286616. 4

Question Number : 5 Question Id : 5362281700 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

'3| | o rrjs_ an.ﬂ '_] U!:‘q -'Ei il h:ﬁ % ':_-"'1%"- "] ':ﬁ.l o ..E__,.F".:f.lq-.-l '_JEI T—_m’ H-IEEH qH7 'Fa' | l:'-':q ﬁ- Ea = rﬁ EE[ W H-T,':—:"-I T’*T[
feran afaeE (%) B 7

(1) 25% (2) 30%
(3) 40% (4) 60%
Options :

5362286617. 1
5362286618. 2
5362286619. 3
5362286620. 4

Sub-Section Number : 2
Sub-Section Id : 53622868
Question Shuffling Allowed : Yes

Question Number : 6 Question Id : 5362281701 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which level of teaching uses higher level of cognitive abilities as specified 1n Bloom's
taxonomy?

(1) Memory level (2) Understanding level
(3) Reflective level (4) Autonomous development level
Options :

5362286621. 1
5362286622. 2
5362286623. 3



5362286624. 4

Question Number : 6 Question Id : 5362281701 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362286621. 1
5362286622. 2
5362286623. 3
5362286624. 4

Question Number : 7 Question Id : 5362281702 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

The teaching strategy best suited to deal with'studedfs whé 1n terms of performance
readiness level are in the category of ‘able but unwilling'. wll be,

(1) Assigning challenging tasks and delegation of roles
(2) Involving in tasks and providing soclo-emotional support with scope for recognition
(3) Mentoring and guiding with close supervision
(4) Keeping the tasks specific and soft
Options :
5362286625. 1
5362286626. 2

5362286627. 3
5362286628. 4

Question Number : 7 Question Id : 5362281702 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No



Correct Marks : 2 Wrong Marks : 0
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Options :

5362286625. 1
5362286626. 2
5362286627. 3
5362286628. 4

Question Number : 8 Question Id : 5362281703 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are said to be the behavioural eompetencies 1n an effective teaching-
behawviour repertoire?

(A) Self efficacy and locus of control
(B) Planming and teaching

(C) Managing and monitoring

(D)  Evaluating and providing feedback
(E) Logical. clear and confident

Choose the correct answer from the options given below :

(1) (B). (C) and (D) only (2) (A). (B) and (C) only
(3) (A), (D) and (E) only (4) (0C), (D)and (E) only
Options :

5362286629. 1



5362286630. 2
5362286631. 3
5362286632. 4

Question Number : 8 Question Id : 5362281703 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362286629. 1
5362286630. 2
5362286631. 3
5362286632. 4

Question Number : 9 Question Id : 5362281704 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement I: In a classroom assessment, a teacher finds that the distribution of students’
score 1s positively skewed. Hence, the mean of scores will be greater than

median and median will be greater than mode.

Statement II : When the distribution of students’ score 1= found to be normal. all the three

measures of central tendency colncide.

In the hight of the above statements, choose the most appropriate answer from the options

given below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect

(3) Statement I 1s correct but Statement II is ineorrect

(4) Statement I 1s incorrect but Statement IT 1s correct
Options :

5362286633. 1
5362286634. 2
5362286635. 3
5362286636. 4

Question Number : 9 Question Id : 5362281704 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :
5362286633. 1
5362286634. 2

5362286635. 3
5362286636. 4

Question Number : 10 Question Id : 5362281705 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Given below are two statements : One 1s labelled as Assertion (A) and the other 1s labelled as
Reason (R) :

Assertion (A):  Teaching-learning systems to be effective must be carefully planned.
adequately implemented and appropriately evaluated.

Reasons (R) : Effectiveness of teaching-learning systems 1s a pre-requisite for all levels
of education.

In the light of the above statements, choose the correct answer from the options given below :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are true and (R) 1s not the correct explanation of (A)
(3) (A) 1s true but (R) 1= false
(4) (A) 1s false but (R) 1s true
Options :
5362286637. 1
5362286638. 2

5362286639. 3
5362286640. 4

Question Number : 10 Question Id : 5362281705 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362286637. 1
5362286638. 2
5362286639. 3
5362286640. 4

Question Number : 11 Question Id : 5362281706 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which of the following research focuses on enhancing the corpus of knowledge 1n a given
field?

(1) Action Research (2) Applied Research
(3) Evaluative Research (4) Fundamental Research
Options :

5362286641. 1
5362286642. 2



5362286643. 3
5362286644. 4

Question Number : 11 Question Id : 5362281706 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362286641. 1
5362286642. 2
5362286643. 3
5362286644. 4

Question Number : 12 Question Id : 5362281707 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which of the following research method emplovs 1fiternal and external érticism for sifting as
evidences and data?

(1) Ex post facto method (2) Experimental method
(3) Historical method (4) Descriptive survey method
Options :

5362286645. 1
5362286646. 2
5362286647. 3
5362286648. 4

Question Number : 12 Question Id : 5362281707 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362286645. 1
5362286646. 2
5362286647. 3
5362286648. 4

Question Number : 13 Question Id : 5362281708 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Identify the key features of qualitative research :

(A) Actual settings as the source of data

(B) Control. observe and measure as main operations
(C) Data take the forms of words or pictures

(D)  Concerned with participant perspective

(E) Hypothesis making and hypothesis testing

Choose the most appropriate answer from the options given below :

(1) (A), (C) and (D) only (2) (A), (B) and (C) only
(3) (B). (C) and (D) only (4) (C). (D) and (E) only
Options :

5362286649. 1
5362286650. 2
5362286651. 3



5362286652. 4

Question Number : 13 Question Id : 5362281708 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362286649. 1
5362286650. 2
5362286651. 3
5362286652. 4

Question Number : 14 Question Id : 5362281709 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement I: The population in research means a defined aggregate of something which 1=

the focus of study.

Statement II: A sample 1s a sub-aggregate drawn from a defined aggregate to represent it.

In the hght of the above statements, choose the most appropriate answer from the options

o1ven below :

(1) Both Statement I and Statement I1 are correct

(2) Both Statement I and Statement IT are incorrect

(3 Statement I 1s correct but Statement IT 1s ineorrect

(4) Statement I 1= incorrect but Statement 11 1s'correct
Options :

5362286653. 1
5362286654. 2
5362286655. 3
5362286656. 4

Question Number : 14 Question Id : 5362281709 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362286653. 1
5362286654. 2
5362286655. 3
5362286656. 4

Question Number : 15 Question Id : 5362281710 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Given below are two statements : One 1s labelled as Assertion (A) and the other 1s labelled as
Reason (R) :

Assertion (A):  Research ethics 1s a must in order to lend credibility to the research
findings and thelr use 1n authentic situations.

Reasons (R) : Application of ICT in research vouches for credibility of research results.
In the light of the above statements. choose the correct answer from the options given below :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are true and (R) 1s not the correct explanation of (A)
(3) (A) 1s true but (R) 1= false
(4) (A) 1s false but (R) 1s true
Options :
5362286657. 1
5362286658. 2

5362286659. 3
5362286660. 4

Question Number : 15 Question Id : 5362281710 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362286657. 1

5362286658. 2

5362286659. 3
5362286660. 4

Question Number : 16 Question Id : 5362281711 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Immediacy of cues In communication 1s dependent upon one’s own

(1) Economic preferences (2) Cultural background
(3) Physzical fitness (4) Social expectations
Options :

5362286661. 1
5362286662. 2



5362286663. 3
5362286664. 4

Question Number : 16 Question Id : 5362281711 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362286661. 1
5362286662. 2
5362286663. 3
5362286664. 4

Question Number : 17 Question Id : 5362281712 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Which of the following methods help improve academic communication?

(A) Preference to vertical communication

(B) Training individual students in commumecation skills

(C) Restricting too much generation of information

(D)  Recognising cultural and hinguistic differences among students

(E) Opting for uniformity in using cultural symbols

Choose the most appropriate answer from the options given below :

(1)  (A). (B). (C) only (2) (C), (D). (E)only
(3)  (B). (C). (D) only (4) "(B). (D). (E) only
Options :

5362286665. 1
5362286666. 2
5362286667. 3
5362286668. 4

Question Number : 17 Question Id : 5362281712 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362286665. 1
5362286666. 2
5362286667. 3
5362286668. 4

Question Number : 18 Question Id : 5362281713 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Given below are two statements : One 1s labelled as Assertion (A) and the other 1s labelled as

Reason (R) :

Assertion (A) : Verbal Commumnication takes place 1n real time.

Reason (R) : Written communication 1s synchronous in character as it appears at

different intervals.

In the light of the above statements. choose the correct answer from the options given below :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (4)
(2) Both (A) and (R) are true but (R) 1s not the correct explanation of (A)
(3) (A) 1s true but (R) 1= false

(4) (A) 1= false but (R) 1s true

Options :

5362286669. 1
5362286670. 2
5362286671. 3
5362286672. 4

Question Number : 18 Question Id : 5362281713 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362286669. 1
5362286670. 2
5362286671. 3
5362286672. 4

Question Number : 19 Question Id : 5362281714 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Identify the correct sequence of the emergence of the following publications :

(A) Standard newspapers
(B) MNews book

(C) News sheets

(D) Tabloids

(E) Broad sheets

Choose the correct answer from the options given below :

()  (©). (B), (A).AD). (E) (2) (D), (E). (€). (B). (&)
(3 (A, (B). (0. (E). (D) (4) £ (B).(C). (D). (E). (&)
Options :

5362286673. 1
5362286674. 2
5362286675. 3
5362286676. 4

Question Number : 19 Question Id : 5362281714 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362286673. 1
5362286674. 2
5362286675. 3
5362286676. 4

Question Number : 20 Question Id : 5362281715 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Match List I with List IT :

List I List IT
(Systems of communication) {(Focussed elements)
(A) Western (I)  Non-competitive and co-operative
(B) Indian (II) Co-existence of binary oppositions
(C) Buddhist (ITITI) Emotional variants
(D) Chinese (IV) Rhetorical devices

Choose the correct answer from the options given below :

@1 (A-D. (B)-ID), (C)-(IV), (D)-(II)
2)  (A)-(IV), (B).(III). (C)-(I), (D)-(II)
(3)  (A-ID. (B)-(IV). (C)-aID). (D)-(I)

4  (A-OV). (B)-I). (C)-(I1I), (D)-(II)
Options :
5362286677. 1
5362286678. 2
5362286679. 3
5362286680. 4

Question Number : 20 Question Id : 5362281715 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



o1 %1 =11 J gafea Fifae

=1 =11
(=R AT o) (¥fza srpm)
(A) T (@) H-faeraims 1a gear
(B) wwdE (D) T3 smar gfdFear 1 Fraaftae
(C) g (II) T =992
D) = AV) AT T

1 (A1), (B)-(ILI). (C)-(IV), (D)-(II)
2 (A)-IV). (B)-IID). (C)-(I). (D)-{IL)
(3)  (A)-(I). (B)-(IV), (C)-(III), (D))

4)  (A)-IV). (B)-), (C)-(IIT), (D)-(II)
Options :
5362286677. 1
5362286678. 2
5362286679. 3
5362286680. 4

Question Number : 21 Question Id : 5362281716 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Three persons are walking around a ground. They take 20. 30 and 40 minutes to complete
one round. If they start from a single point together, they will meet again at that point after.

(1) 1 hour (2) léhour
1
(3) 2 hour (4) 2§ hour
Options :

5362286681. 1
5362286682. 2
5362286683. 3
5362286684. 4

Question Number : 21 Question Id : 5362281716 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

i =afFa UF He T T o0 I 7 | ° 38 239 H UF F9h o A SEe 20, 50 #i 40 HHE w and
od 7 | = = gt fheli o Bl 3 ° 2ael 9 FE 7 a1 FRad THT 6 91E 3% T W O e ¢

1

(1) 192-31 (2) 15 BER I
3 2H@-wm @ 2% CERTE

Options :

5362286681. 1
5362286682. 2
5362286683. 3
5362286684. 4

Question Number : 22 Question Id : 5362281717 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



In a class of 65 students. 27 speak Hindi, 21 speak English and 17 speak Bangla. 7 speak
only English and Hindi. 6 speak only Hindi and Bangla and 5 speak only English and

Bangla. If 12 speak only Hindi then how many speak all the three languages.

(1) 3] (2) 4
3 3 4 2
Options :

5362286685. 1
5362286686. 2
5362286687. 3
5362286688. 4

Question Number : 22 Question Id : 5362281717 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

65 ferenfe=t areht v =en 527 el 7= @re 7, 21 el s sow ® @ 17 frndt aren

21 7 famneft = 7S AR &t ood 2, 6 forameft as fera N swen = & 925 fEEet e

U FA T TeAd 7 | T 12 et Fae Tl Fied 7 a1 e faemedt asft 30 g 9w 2

(1) 5 (2) &
3 3 1) 2
Options :

5362286685. 1
5362286686. 2
5362286687. 3
5362286688. 4

Question Number : 23 Question Id : 5362281718 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

The sum of four consecutive odd integers 1s 2160. The greatest of them 1s

(1) 327 (2) 429

(3) o037 (4) 641



Options :

5362286689. 1
5362286690. 2
5362286691. 3
5362286692. 4

Question Number : 23 Question Id : 5362281718 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

IW FiHF gur foram Freett w0 3 2160 7 | 39H & T 91 JEr B -Hf 26t

(1) 327 (2) 429
(3) 037 (4) 641
Options :

5362286689. 1
5362286690. 2
5362286691. 3
5362286692. 4

Question Number : 24 Question Id : 5362281719 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

A two digit number 1s 4 times the sum of its two digits. The number that 1s formed by
reversing its digits 15 27 more than the original number. What 1s the number?

(1) 27 (2) 36
(3) 42 (4) b4
Options :

5362286693. 1
5362286694. 2
5362286695. 3
5362286696. 4

Question Number : 24 Question Id : 5362281719 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No



Correct Marks : 2 Wrong Marks : 0

UF I FAFETAT TEAT A AT STH T AT H 470 2 | THE AHN 1 FH seed I 591 T g T °
27 AT9= & | §o1 HEA =4 |

(1) A (2) 36
(3) 42 (4) 54
Options :

5362286693. 1
5362286694. 2
5362286695. 3
5362286696. 4

Question Number : 25 Question Id : 5362281720 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

The sum of the squares of three numbers 1s 83. while sum of thewr products taken two at a
time 1s 71. Their sum will be

(1) 15 (2) .49
(3) 142 (4) ghRS
Options :

5362286697. 1
5362286698. 2
5362286699. 3
5362286700. 4

Question Number : 25 Question Id : 5362281720 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



A\ HEEA % 9 A 83 2 | T W ToA® Bl HEAE R A A0 717 | 39 e w6

(1) 15 (2) 49
(3) 142 (4) 225
Options :

5362286697. 1
5362286698. 2
5362286699. 3
5362286700. 4

Question Number : 26 Question Id : 5362281721 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which one of the following Pramanas 1s accepted 1n Vaisheshika philosophy?

(A) Pratvaksha
(B) Anuméan

(C) Upaméana
(D) S'abda

(E)  Arthapatti

Choose the most appropriate answer from the options given below :

(1) (A) and (B) only (2) (B) and (C) only
(3) (C) and (D) only (4) (A) and (D) only
Options :

5362286701. 1
5362286702. 2
5362286703. 3



5362286704. 4

Question Number : 26 Question Id : 5362281721 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

- il . =Y = ERT o r " e - .
FAfeTiad § O shi9-4 TH10T 919 29 ° =i e 9" 27

(A) w3E
(B) FEA
(C) =M
(D) w52
(E) ==

() F== (A) 3 (B) (2) piEE (B)#i (G)
(3) #a (C) ¥E (D) @ (F= @ =% @
Options :

5362286701. 1
5362286702. 2
5362286703. 3
5362286704. 4

Question Number : 27 Question Id : 5362281722 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Match List I with List IT :

Last I Last IT
(Concept/Doctrine) (School)
(A) Pratityasamudpada (I} Vedant
(B) Abha&ava (IT) Sankhya
(C) Samyavastha (III) Nyayva
(D) Adhyasa (IV) Buddhism

Choose the correct answer from the options given below :

(1) (A)-(D). (B)-(I11), (C)-(IV). (D)-(II)
2  (A)-AD. (B)-AV). (C)-(II). (D)-T)
(3  (A)-IV), (B)-(II).(C)(ID). (D)-(I)
4  A-AV). B)-D).(C)-(1), (D)-(ILI)

Options :

5362286705. 1

5362286706. 2

5362286707. 3
5362286708. 4

Question Number : 27 Question Id : 5362281722 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



TA1-1 %1 g=A1-11 7 gefem Hiraw,

-1 T=i-11

(rErem /g (T )
(A) TETTEETS @ &
(B) 9 I ===
(C) TmEEm III) =
(D) e Iv) =g

fFefetas faent 4 3 78 3 96
1) (A)-D. (B)-III). (C)-IV). (D)-(II)
(2)  (A)-dD), (B)-AV), (C)-(IIIL), (D)-1D)
3)  (A)-IV), (B)-(III), (C)-(ID), (D)-(I)
@4 (A-IV), B)-D). (C)(11). (D)-(11L)
Options :
5362286705. 1
5362286706. 2

5362286707. 3
5362286708. 4

Question Number : 28 Question Id : 5362281723 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

In the figure of categorical syllogism. Quantity and Quality of a proposition determine :

(1) Vahidity of Syllogism (2) Mood of the Syllogism
(3) Figure of the Syllogism (4) Fallacy of the Syllogism
Options :

5362286709. 1
5362286710. 2



5362286711. 3
5362286712. 4

Question Number : 28 Question Id : 5362281723 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

RESEl CE A I e e Tl 1 e e B R e e e s e 2 e L e | e eI e e G e B M e e Al e ol
E 'xE.nl ?'l-?

(1) a1 dua (2) =MEETE A
(3)  =EEEE F U (4) =AFATE F AT
Options :

5362286709. 1
5362286710. 2
5362286711. 3
5362286712. 4

Question Number : 29 Question Id : 5362281724 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Match List I with Last IT :

List I List IT
(Concept) (Philosopher)
(A) Phenomenon and Noumenon (I) Amstotle
(B) Potential and actual being (I) Descartes
(C) Mind and Body Dualism (III) Locke
(D) Primary and Secondary qualities (IV) Kant

Choose the correct answer from the options given below :

1L (A)-D. B)-IID, (C)-IV), (D)-(I)
(2) (A)-(IID), (B)-(II), (C)-(I). (D)-(IV)
(3) (A)-(IV), (B)-(I). (C)-(II). (D)-(11I)
(4) (A)-(II). (B)-(IV), (C)-(III). (D)-(I)

Options :

5362286713. 1
5362286714.2
5362286715. 3
5362286716. 4

Question Number : 29 Question Id : 5362281724 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



T=-1 1 g=A-11 5 gafed Fifao

711 =111
(TeFeaT ) (it
(A) =2 UF TEA O =
(B) HHEAT U9 ARAEE B (ID) =ewEE
(C) T4 T3 TR gaag AID) =i+
(D) wrufE= U T T @V) =
e fau T faet § ® @A ST g

(1) @-D. (B)-(II), (C)-(IV), (D)-(1I)
2)  (A-IID. (B)-ID). (C)I). (D)-(IV)
(3)  (A-IV). B)-(D). (C)-(ID. (D)-(I1I)
4  (A)-dD. (B)-0V), (C)-(IID), (D)-(T)

Options :

5362286713. 1
5362286714.2
5362286715. 3
5362286716. 4

Question Number : 30 Question Id : 5362281725 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

According to the law of excluded middle :

(1) A proposition could be true and false simultaneously
(2) A proposition is either true or false

(3) A proposition 1s true if it 1s true

(4) A proposition 1s neither true nor false

Options :
5362286717. 1



5362286718. 2
5362286719. 3
5362286720. 4

Question Number : 30 Question Id : 5362281725 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

afsid 757 =+ 7w =+ e

(1)  wiosiie U =19 A SN T w7 0l
(2) TGSt =7 91 HE E AYE T 7

(3)  wiasl ®al 7 92 7% ®&l 2 |

(4)  wiamfa F a1 98 2 3 9 ST |
Options :

5362286717. 1

5362286718. 2

5362286719. 3
5362286720. 4

Question Number : 31 Question Id : 5362281726 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

An unsolicited e-mail message sent to many reciplients at once 1s a

(1) Inbox (2) Spam
(3) Virus (4) Attack
Options :

5362286721. 1
5362286722.2
5362286723. 3
5362286724. 4



Question Number : 31 Question Id : 5362281726 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

S WTCAATHAT 1 T =Y ST T R AGNS $-HeA U wral 2

(1)  ==iFH (2) |
(3) T (4) =
Options :

5362286721. 1
5362286722.2
5362286723. 3
5362286724. 4

Question Number : 32 Question Id : 5362281727 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Given below are two statements :
Statement I: Operators are special symbols that are used td perform calculations, make
comparisons and check logical condition.

Statement II : Relational operators are used for arithmetic operations.

In the light of the above statements. choose the correct answer from the options given below :
(1) Both Statement I and Statement IT are true

(2) Both Statement I and Statement IT are false

(3) Statement I 1s correct but Statement II 1s false
(4) Statement I 1s incorrect but Statement II 1s true
Options :

5362286725. 1



5362286726. 2
5362286727. 3
5362286728. 4

Question Number : 32 Question Id : 5362281727 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Fo (I):  SATwer e s w2d 2 T ugi afeeed #, e S SR i feafeat i S e

Fo (D) :  Feremet STl = S0 S S (SRS ATHIE ) F o 5 A E |

STIF U % AT § (ARG e 3 F HE I A
(1) == I3 IEA 581 # |

2  Fya I 3 AL A e |

(3) = ITca 7 Thg oA 1174 = |

@) w1 3EE s g F99 a8 2

Options :

5362286725. 1
5362286726. 2
5362286727. 3
5362286728. 4

Question Number : 33 Question Id : 5362281728 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Given below are two statements :
Statement I : In peer-to-peer network., there 1s no central server instead each computer can
act as a server as well as a chient.

Statement IT: LAN 1s a computer network created for individual person.

In the light of the above statements. choose the correct answer from the options given below :
(1) Both Statement I and Statement IT are true
(2) Both Statement I and Statement II are false

(3) Statement I 1s correct but Statement II is false
(4) Statement I 1s incorrect but Statement II 1s true
Options :

5362286729. 1
5362286730. 2
5362286731. 3
5362286732. 4

Question Number : 33 Question Id : 5362281728 Question Type : MCQ Option Shuffling :,No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



FoA (I):  FAFE (TR 7 ) J29% 0 1% F513 T4 T7 2601 & dfch 306 999 TodF T UF
el AN UF T2 % B9 0 R A E
o (ID) : LAN =afoa faem =q s 791 #9221 F2ash 2l 7 |

[

IYGFT FUAT o AT ° IR ehed 3§ HE I g

(1) = I3 I EH 581 7 |

() = I s IS 7ed &

3) =wEITFzFgFEIITE 2|
@ w13 2 g F I EH 2 |
Options :

5362286729. 1

5362286730. 2

5362286731. 3
5362286732. 4

Question Number : 34 Question Id : 5362281729 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

A computer network enables two or more computers to
(1) Increase the speed (2) Share data and hardware resources
(3) Increase the work (4) Monitor the software

Options :

5362286733. 1

5362286734.2

5362286735.3
5362286736. 4

Question Number : 34 Question Id : 5362281729 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No



Correct Marks : 2 Wrong Marks : 0

2 FOAL T2 3 A1 3 F AT Fgd 1 FAfatad 3 @ 73 i § g9 a9 2

(1) wEaEHd (2) TTET IR ETSAAE TETGAT & HE0 A o
(3 wFE gAY (4) wiFzaE i e

Options :

5362286733. 1
5362286734.2
5362286735. 3
5362286736. 4

Question Number : 35 Question Id : 5362281730 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Full form of the abbreviation OCR 1= :

(1) Optical Character Recognition (2) Online Computer Reader
(3) Optical Computer Recognition (4) Optical Control Reader
Options :

5362286737. 1
5362286738. 2
5362286739. 3
5362286740. 4

Question Number : 35 Question Id : 5362281730 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

FEeR OCR =1 71 91 2

(1)  *ATehel et R @) AT T
(3)  omfewa wogz fwrtee @) onfesa F2ie st

Options :



5362286737. 1
5362286738. 2
5362286739. 3
5362286740. 4

Question Number : 36 Question Id : 5362281731 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which of the following countries has not signed/ratified the International Solar Alliance
Framework Agreement?

(1) Australia (2) United Kingdom
(3) Japan (4) China
Options :

5362286741. 1
5362286742. 2
5362286743. 3
5362286744. 4

Question Number : 36 Question Id : 5362281731 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

i~

MefeTREd § | 0 391 3 3o Ao S FAaE Ui TR /A AR T6 e 2

(1) seefemn (2) T3S A
(3 S (4) A
Options :

5362286741. 1
5362286742. 2
5362286743. 3
5362286744. 4



Question Number : 37 Question Id : 5362281732 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Given below are two statements : One 1s labelled as Assertion (A) and the other 12 labelled as
Reason (R) :

Assertion (A):  Energy production from blomass has traditionally been considered
carbon neutral.

Reason (R) : Carbon dioxide emissions from combustion of biomass are sequestered by
growing blomass

In the light of the above statements, choose the correct answer from the options given below :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)

(2) Both (A) and (R) are true but (R) 1s not the correet explanation of (4)
(3) (A) 12 true but (R) 1= false

(4) (A) 1s false but (R) 1s true

Options :

5362286745. 1
5362286746. 2
5362286747. 3
5362286748. 4

Question Number : 37 Question Id : 5362281732 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



= 31 A R e | uw w0 ATeEwEA (A) R gE 0 as (R) FE TR |

AT (A) ATETETH A1 IcqEA Hl TR T H HEA ggel AT 706 7 |
T |

I9GFA FUET o ATATR § FiEd e O ° wE I g

1) (AR ®) I A E 5 R), (A) F 7 == 2
(@) (A) R (R) I 78 F T R). (A) F TF = A5 |
3 (A EH 29 (R) Az |
@ (A 7TeE 7 W (R) 7 O

Options :

5362286745. 1

5362286746. 2

5362286747. 3
5362286748. 4

Question Number : 38 Question Id : 5362281733 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

For wind power electricity generation which among the following type of rotors 1s most
commonly used?
(1) Multiblade rotor (2) Propeller rotor

(3) Savonius rotor (4) Darrieus rotor

Options :
5362286749. 1



5362286750. 2
5362286751. 3
5362286752. 4

Question Number : 38 Question Id : 5362281733 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

TEH HH1 3918 B HeeTigd § H TRE TR % guih (T2T) W |9 9 wartas 5= R s 2 v

(1)  wdiecds T (2) YR T
(3) AT U (4) Sfm T
Options :

5362286749. 1
5362286750. 2
5362286751. 3
5362286752. 4

Question Number : 39 Question Id : 5362281734 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement I: Chronic toxic effects result from single dose of very high toxic substance or

continuous exposure of sub lethal dose.
Statement I : Acute toxic effects are long lasting and irreversible mainly caused due to

prolonged exposure to toxins and survival rate 1s very low.

In the light of the above statements. choose the correct answer from the options given below :
(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement II are false

(3) Statement I 1s correct but Statement IT 1s false
(4) Statement I 1s incorrect but Statement II 1s true
Options :

5362286753. 1
5362286754. 2
5362286755. 3
5362286756. 4

Question Number : 39 Question Id : 5362281734 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



A= 21 e T e E

w9 (D) :  Frh AtaF e 991 e S A% o 99 9ad % Had S i 9 i
feel wgTa * =9 0 2l 2 |
9% ° =M § UaFfed 2 & 991 =1 5191 ° Sied & o9 94 = 2 F9 a2 2 |

EJ_EJ::lE FYAT * ATATF 5 ARG e 3 O el I a}r :

(1) w3 =M =87 |

(2 =y IR I 241 el |

(3) = Iuex 2 g = I 7Ted = |

@)  FuF I 5Hca 2 Thg =97 11971 2 |
Options :
5362286753. 1
5362286754. 2
5362286755. 3
5362286756. 4

Question Number : 40 Question Id : 5362281735 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Which of the following goals are related to millennium Development Goals?

(A) Improving maternal health

(B) Controlling depletion of ozone laver

(C) Improving the life of slum dwellers

(D)  Creating smart city infrastructure

(E) Promoting gender equality and empowerment of women

Choose the most appropriate answer from the options given below :

(1) (A). (C) and (E) only (2) (A), (C), (D) and (E) only
(3)  (A). (B). (C) and (E) only (4) (A). (B). (D) and (E) only

Options :

5362286757. 1
5362286758. 2
5362286759. 3
5362286760. 4

Question Number : 40 Question Id : 5362281735 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

FefeiEd 3 o $H-5 3599 HeeA1ss O oaa] 8§ Taid © 1

(A) AT = I qYm

(B)  HAEH WA § &0 F FEEE

(C)  =fer sfel o T = =i = Siae o GEW o
(D) = fidt srEET= giaa e

F= 7 ™ e § § T IR 96T
(3 (9, (Cr e ) @ Q). (©). (D) 3k (B)
(3)  Fa (A). (B). (C) ¥ (E) @ ¥ (A). (B). D) 7 &)

Options :
5362286757. 1



5362286758. 2
5362286759. 3
5362286760. 4

Question Number : 41 Question Id : 5362281736 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

The Universities centered on the viharas during the Ancient India Period were situated at

(A) Navadeep
(B) Nalanda
(C) Valabhi
(D) Jagaddala

(E) Kanchi

Choose the correct answer from the options given below :

(1) (A). (B). (C) only (2)  (B), (Cia(D) only

(3)  (C). (D). (E) only (4) (D). (E). (A) only
Options :

5362286761. 1
5362286762. 2
5362286763. 3
5362286764. 4

Question Number : 41 Question Id : 5362281736 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



T 9WA § faER e fAvatames Fetatas § ¥ 6 e w e 97

(A)  T=Em
(B) AT
(C)  Toaad
(D)  gEeT
(E) ==

i o3 ™ oot | © mE 5 9t
(1)  Fa4 A). (B). (©) (2) == (B). (C), (D)
(3) === (C). (D). (E) (4) == (D). (E). (A)
Options :
5362286761. 1
5362286762. 2

5362286763. 3
5362286764. 4

Question Number : 42 Question Id : 5362281737 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Arrange the steps followed 1n the process of value clarification :

(A) Students are presented with an 1ssue

(B) Students suggest alternative solutions

(C) Students express their feelings about each alternative
(D) Students consider the consequences of each alternative

(E) Students express their preferences and make a choice

Choose the correct answer from the options given below :

(1) (A, (B). (C). (D). (E) (2)  @A). B). (D). (C), (E)
(3) (A, (C). (B). (D). (E) (4) (A). B). (E). (C). (D)
Options :

5362286765. 1
5362286766. 2
5362286767. 3
5362286768. 4

Question Number : 42 Question Id : 5362281737 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Ten TSR WA H ST AT S S s o |

Q)  TeEmefai # ow e faam S 2

B)  Trmft I TmeE g 7
(C)  Torenefl vz ey % & O 10T =AY T W E |
D) Tt v fase F afomat w fa=m w5 3 |

(E)  Teremedt s19+t mufaerare == #7d & 31 U oo 9d 7

Fr= fau T et 8 # w8 I g
(1) (A, (B). (C). (D). (E) (2)  A) (B (D). (C)(E)
(3) (A (O). (B). D) (E) 4 (A, B), (E)(C), (D)

Options :

5362286765. 1
5362286766. 2
5362286767. 3
5362286768. 4

Question Number : 43 Question Id : 5362281738 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

As per the recent All India Survey on Higher Education. the Gross Enrollment Ratio (GER)
in Higher education for the yvear 2018-19. in India 1s

(1) 24.6% (2) 25.6%
(3) 26.3% (4) 27.8%

Options :
5362286769. 1
5362286770. 2



5362286771. 3
5362286772. 4

Question Number : 43 Question Id : 5362281738 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

o150 % Tay A = A 9 R 0 sTiigel YA @EsT % AR, 9Rd 0 99 2018-19 7 S=u e 0 g
T ST (S 3 9W) B -

(1) 24.6% (2) 25.6%
(3) 26.3% 4 27.8%
Options :

5362286769. 1
5362286770. 2
5362286771. 3
5362286772. 4

Question Number : 44 Question Id : 5362281739 Question Type: MCQ Option Shuffling: No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

UGC portal "e-SARTS" 1= for

(1) Special Assistance for Research in Technology and Sciences
(2) Special Assistance for Research and Traiming in Sciences
(3) Support for Academic and Research Training in Social Sciences

(4) Scholarship-Fellowship Award Registration Tracking System

Options :

5362286773. 1
5362286774.2
5362286775. 3
5362286776. 4



Question Number : 44 Question Id : 5362281739 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

7 51 =i 9 ‘e-STARTS' Ftainad § | o fom 27
(1) o st dtafef 4 sgEam = o fagm wsma
(2  fawm ¥ ufiemr 3t sgEE % foo e |
(3)  THTH AT W WiaE U Iy wiEe e qmea

Options :

5362286773. 1

5362286774. 2

5362286775. 3
5362286776. 4

Question Number : 45 Question Id : 5362281740 Question Type,: MCQ. Option Shuffling.: No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

An 1nstitution in the field of higher education desirous of getting the status of ‘Deemed to be
University’ has to fulfill the following criteria :

(A)  The institution must be at least 10 years old

(B) Its NAAC CGPA 1s atleast 3.26

(C) It figures in top 100 ranks of NIRF in overall category of institutions and universities.
(D)  Teacher student ratio in the institution 1s at least 1:20

(E) Number of teachers (faculty) 1s atleast 50.

Choose the correct answer from the options given below :

(1)  (A). B). (C) and (D) only (2) (B). (C) and (D) only
(3) (B). (C). (D) and (E) only (4) (A). (C). (D) and (E) only



Options :

5362286777. 1
5362286778. 2
5362286779. 3
5362286780. 4

Question Number : 45 Question Id : 5362281740 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

I=a e % &7 4w fvatames (S 7 & giEEd) = 3= 1= A s wEE T R aen =
FAfetEg aFeEs o #9477

(A)  TET H FH H HH SH T9 GIET 54 T

(B)  3E A% (NAAC) 1 #1 =it 91 & 9 ¥ =9 3.2677

(C)  =Est i fawatraiean i 5690 40 & v 3178 &9 U & o0 1003% 5555 W8 =4 =i |

(D) =& 9 T -Taens HITd H F5 1:20 77 =TT |

(E) Tzt (5m) i &= #9 3 59 50 71|

(D F= A). B). (C) 1 (D) @ FA9 ). () #T (D)
3  Faa B). (O). (D) 3 (E) (4) =3 (A). (C), (D) = (E)
Options :

5362286777. 1

5362286778. 2

5362286779. 3

5362286780. 4

Sub-Section Number : 3
Sub-Section Id : 53622869
Question Shuffling Allowed : Yes



Question Id : 5362281741 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
:No

Question Numbers : (46 to 50)

Question Label : Comprehension

Read the passage carefully and answer questions from 46 to 50.

People seldom continue to do things that do not provide positive reinforcement, either
through external reward or internal satisfaction. In addition to its effect on the continuation
of a particular behaviour, extinction can also have an emotional impact. We could predict, for
example. with an excellent chance of being correct, that an employvee will become surely, will
complain more than before, or will have problems getting along with his co-workers.
Emotional behaviour usually accompanies extinction when reinforcement or punishment is
withheld. Parents often extinguish behaviours umintentionally when they pay attention only
when their children are behaving poorly. If parents pay little or no attention when the
children are behaving appropriately. they in a sense, put the behaviour on extinetion: A-child
who wants attention — a reward — from the parents may be willing to endure what the
parents think is punishment to get it. So, in the long run. the parents might be reinforcing
inappropriate behaviour: vet it happens all the time. This phenomenon is also very common
1in the world of work. For example, a manager's work/group had responded well to a high
task-low relationship. dealing firmly with inappropriate behaviour. Now suddenly this style
1s not achieving results, and followers are being disruptive and making unreasonable
demands. Positively reinforcing inappropriate behaviour generally results In more unwanted
behaviour.

Sub questions

Question Number : 46 Question Id : 5362281742 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



What do people need to continue working for internal satisfaction?

(1) Some threat

(2) Some emotional reaction

(3) Some pleasant experience after the behaviour occurs
(4) Threat mixed with something pleasant

Options :

5362286781. 1
5362286782. 2
5362286783. 3
5362286784. 4

Question Number : 47 Question Id : 5362281743 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

When a reinforcement is withheld from a worker. wtmay leads inter.alia. to

(1) expectation of getting something pleasant
(2) decrease 1n complaining behaviour
(3) expectation of threats

(4) evocation of negative emotions

Options :

5362286785. 1
5362286786. 2
5362286787. 3
5362286788. 4



Question Number : 48 Question Id : 5362281744 Question Type : MCQ Option Shuffling
Correct Marks : 2 Wrong Marks : 0

When the unintended neglect of appropriate behaviour results in
(1) extinction of that behaviour

(2) seeking reward for appropriate behaviour

(3) positive reinforcement

(4) further occurrence of the original behaviour
Options :

5362286789. 1
5362286790. 2
5362286791. 3
5362286792. 4

Question Number : 49 Question Id : 5362281745 Question Type : MCQ Option Shuffling
Correct Marks : 2 Wrong Marks : 0

: No Is Question Mandatory : No

: No Is Question Mandatory : No

Positively reinforcing inappropriate behaviour 1s an error because 1t results 1n

(1) continuation of inappropriate behaviour
(2) dropping of inappropriate behaviour
(3) misbehaviour
(4) negative emotions
Options :

5362286793. 1
5362286794. 2
5362286795. 3
5362286796. 4

Question Number : 50 Question Id : 5362281746 Question Type : MCQ Option Shuffling
Correct Marks : 2 Wrong Marks : 0

: No Is Question Mandatory : No



The focus of the passage 1s on

(1) reward and punishment policies In an organisation

(2) high risk relationship between managers and workers

(3) the managerial attitude towards workers

(4) the negative consequences of positive reinforcement
Options :

5362286797. 1
5362286798. 2
5362286799. 3
5362286800. 4

Question Id : 5362281741 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (46 to 50)

Question Label : Comprehension
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Sub questions

Question Number : 46 Question Id : 5362281742 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



ST 1 AT Gare & Tad FE AR W@ F 00 7 = A 5 w6 2 7

(1) EzzileE At lore
(2) TS SEATHS T
3 Fd AR 2 WW AH=ETF AT

(4) TP ges TidiEman & =@y auh

Options :

5362286781. 1
5362286782.2
5362286783. 3
5362286784. 4

Question Number : 47 Question Id : 5362281743 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

v et STl o WEe @G R S ® a1 E TR ot A 6| T -d e 3

g o =il 27

(1) % TEs TH i ATHE

(2)  forFmEa # a =IEEr J
(3)  wmTHAT I T

(4)  TEEHAF qEAAT H I

Options :
5362286785. 1



5362286786. 2
5362286787. 3
5362286788. 4

Question Number : 48 Question Id : 5362281744 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

T=l o 1o I ARl =l ey w9 4 Ht 3uan e SH i iont B 2

(1) 9 =9sd & A9 |

(2) 999 =MEER F [0 TERR F 0 A 1

(3) AFRTHF Taed o

(4) UF =E= F 9 4 afeg me 0
Options :
5362286789. 1
5362286790. 2
5362286791. 3
5362286792. 4

Question Number : 49 Question Id : 5362281745 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

THEHF T H TSieid A 909 SAaER U 9ol 7 I 3l THd Bl 7

(1) 7994 =J9=R 90 & 4
@) T R o |
(3) FEERH

(4)  TFEOCHF WA

Options :

5362286793. 1
5362286794. 2
5362286795. 3



5362286796. 4

Question Number : 50 Question Id : 5362281746 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

=0 e w1 FefetEa 1 9 e w2

(1) 1 T4 ° TR 3AE 23 FEdl A ™
(2)  wEEH AR ATEEE % o wrh FiiE ey W
(3) ATqFTA = T TEeE T

(4) OFcHT Taed & TFRIHF 90y

Options :

5362286797. 1
5362286798. 2
5362286799. 3
5362286800. 4

PART II Bengali
Section Id : 53622824
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 92
Number of Questions to be attempted : 92
Section Marks : 200
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 53622870
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 5362281747 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No



Correct Marks : 2 Wrong Marks : 0

% (73 1S o] SRS’ SR (AF FEAFL <& b (R8T =4
A. I 409 (P STl Wrgy1€63

B. WIZ [T 2o VI WG I9 (W2

C. MY Id (2

D. SFALA! AN TN, WY I (A2

1.CDAB
2.CB DA
3.0,A, B, C
4.B,C, A D

Options :

5362286801. 1
5362286802. 2
5362286803. 3
5362286804. 4

Question Number : 51 Question Id : 5362281747 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

3 (MF g STer ST’ BRI (AP FEHSG A& e o7 ==
A. T3 405 (PUF STl Wy f=ed

B. OIZ [9ar=sTery 2vas ¥4 9 99 (72

C. ®Y I (N2

D. I8! A 95N, WY I (7E

1.GD A B
2 6B DA
3. DA B C
4.B,C, A D



Options :

5362286801. 1
5362286802. 2
5362286803. 3
5362286804. 4

Question Number : 52 Question Id : 5362281748 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

(2 WIF ©f@ T, TIYAYE I'— (&0 T2 a5 =17 (T Siod wesfs:

1. qGM
2. AELAT
3. foraT-=ffe
4. 9%

Options :

5362286805. 1
5362286806. 2
5362286807. 3
5362286808. 4

Question Number : 52 Question Id : 5362281748 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

(2 W7 ©f @ =7, TIYAHE I'— (S0 o etesg =17 (7 siog wesfs:

1. G
2. /AT
3. fordr-=ffe
4.9

Options :
5362286805. 1



5362286806. 2
5362286807. 3
5362286808. 4

Question Number : 53 Question Id : 5362281749 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

YUY AfG#ElS BT WA ALY SRy Gfe J9¢ 3oy Olfeisry &g «y

s e T T

RIGEIR RIGEIE
A, 4 fETEemTE fHEe i o ges| ‘;EE'

B. Ffci W1 T© *[§ Z(J7 GITFMET 20T (57 BieT G4 -
GBI | -

C. *[PTa GLa 1 Q6] W 511 LIHE =1 S | il
D. (NN (F WGd 2TE..8 (o1 28 (51012 (577 | iv. CISRHT

Gw ORI 0T STNE Q4 F1I A0S H: (00 D veldd [I9F0 26

1. A -iii; B - iv, C - i (.
2.A-ii, B-iv, C-i, NG
o=y B v G B=
4. A-iv, B-iii, C-i, D-i

Options :

5362286809. 1
5362286810. 2
5362286811. 3
5362286812. 4

Question Number : 53 Question Id : 5362281749 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



U ATTREle BT WITaN AU ORIy Gfer J9¢ 3ol Ol Ied ~d

OrE7d 1 24

RIGEIR IGEE
A 4 RfemE R wify w0 goal ;;EEE'

B. Flei O[T T0 *[{ 2(J? BITFE 20T (91 BieT 4 —
GBI | o

C. *JPLd GlA VI BNG] O 5110 LB 1 SN | il *PY T
D. (NCINY (T WGF 217..8 (01 B8 (S1(=E (51 iv. CSFH]

Sod ORI WY TGS [[HUN H 2 AP0 9P baldd [PHIb 26T

1A=l B - i Ci= D
2: A= i B =i E- 1 D= i
oAl B - v C=ii D=
4. A-iv,B-iii, C-i, D -ii

Options :

5362286809. 1
5362286810. 2
5362286811. 3
5362286812. 4

Question Number : 54 Question Id : 5362281750 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



AT (RO TAAILT G FLTF0 WF- &G ST (ST 24:
A, RGN Gy A (Zal srait sSyerErg @
B. T#IITer g AiEFeTHared S 999 TIE IFTH Gread |
C. TREGE ST (IO 0% NeTd ALY RIS (DA |
D. FIF *I@ N YHBIAGTS YN IS Yerd Gl (2 o S 4|
E. AP SIS ST6AT S M10d AR FABIE |

s o (- [ReaiGre St T8 &g, (It =

1.(PFFETA BARD
2. (PFT A, CHARL D
3.(F9e1B, C J43 E
4. (P4e1B, D G492 E

Options :

5362286813. 1
5362286814. 2
5362286815. 3
5362286816. 4

Question Number : 54 Question Id : 5362281750 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



AT (RO TAAILT G FLTF0 WF- &G ST (ST 24:
A, RGN Gy A (Zal srait sSyerErg @
B. T#IITer g AiEFeTHared S 999 TIE IFTH Gread |
C. TREGE ST (IO 0% NeTd ALY RIS (DA |
D. FIF *I@ N YHBIAGTS YN IS Yerd Gl (2 o S 4|
E. AP SIS ST6AT S M10d AR FABIE |

s o (- [ReaiGre St T8 &g, (It =

1.(PFFETA BARD
2. (PFT A, CHARL D
3.(F9e1B, C J43 E
4. (P4e1B, D G492 E

Options :

5362286813. 1
5362286814. 2
5362286815. 3
5362286816. 4

Question Number : 55 Question Id : 5362281751 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



AT AT SIS G (S ©15Y) (ATF PLIPI0 213 &F & o Je Ul T

e RV %\:}IEI, hﬂllﬁiﬁlﬁ e 2

NIGEIR NIGEIE

ASTEITS A (I 218 1Ry CERE il

B. AP AIF WY (=2 A el i DT T

CAPTIMA W, (T Iy fHfae, A—
T 5 (G T 1|

D.Wﬁ RO, AHE N QGRS S
Wie 2ld Tw L4 |

ESIpA B0 G SR bl VTN FH=T

HME H( PO 3P Galdd [APIID 26T

1.A-iii,B-v,C-iv, D-i, E-1
2.A-ii,B-iv,C-v, D-i/E-ii
3A-i,B-ii,C-v, D-iii, E-iv
4 A-iv,B-iii,C-v, D-1,E-i
Options :

5362286817. 1

5362286818. 2

5362286819. 3
5362286820. 4

Question Number : 55 Question Id : 5362281751 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



AT AT SIS G (S ©15Y) (ATF PLIPI0 213 &F & o Je Ul T

e RV %\:}IEI, hﬂllﬁiﬁlﬁ e 2

NIGEIR NIGEIE

ASTEITS A (I 218 1Ry CERE il

B. AP AIF WY (=2 A el i DT T

CAPTIMA W, (T Iy fHfae, A—
T 5 (G T 1|

D.Wﬁ RO, AHE N QGRS S
Wie 2ld Tw L4 |

ESIpA B0 G SR bl VTN FH=T

HME H( PO 3P Galdd [APIID 26T

1.A-iii,B-v,C-iv, D-i, E-1
2.A-ii,B-iv,C-v, D-i/E-ii
3A-i,B-ii,C-v, D-iii, E-iv
4 A-iv,B-iii,C-v, D-1,E-i
Options :

5362286817. 1

5362286818. 2

5362286819. 3
5362286820. 4

Question Number : 56 Question Id : 5362281752 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



M (T == WM B5031G 73, (56 2.

1. 5731
2. (3ol
3. forsa
4. Qg

Options :

5362286821. 1
5362286822. 2
5362286823. 3
5362286824. 4

Question Number : 56 Question Id : 5362281752 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

M (T =D WD B5TdNG 73, (5116 2eT:

1. 5731
2. (3ol
3. forsa
4. Qg

Options :

5362286821. 1
5362286822. 2
5362286823. 3
5362286824. 4

Question Number : 57 Question Id : 5362281753 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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1. DA C BE
200 B E A
3.EAD,BC
4.B,ACDE

Options :

5362286825. 1
5362286826. 2
5362286827. 3
5362286828. 4

Question Number : 57 Question Id : 5362281753 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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AT TS TO *19 *0 (AT Qe

B.GE1% (A (TN (5107 2ATTAI NIeld 2R_IRF|

.4 “FoPd IO Alors (6 6 o sif%d |

D.SHITE PG (TN IR0 G MUT AR PR (PP Gie |

E. SdIel AU>d WIeleed U9 J90HF A2 AP0 09, WRa W+Ed 4
SITHd o (ATF g A2 Tmefas s @y wg gl ==

1. DA C BE
200 B E A
3.EAD,BC
4.B,ACDE

Options :

5362286825. 1
5362286826. 2
5362286827. 3
5362286828. 4

Question Number : 58 Question Id : 5362281754 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362286829. 1
5362286830. 2
5362286831.3
5362286832. 4

Question Number : 58 Question Id : 5362281754 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

STSTERNA 511, OTd *ERe

B WA I8, [P,

(ZNeTOT; W1 1= 3618 WG
(TRAVIYPIAY -4 AT G2 I iR

1. W®de
RS
4,29
Options :
5362286829. 1
5362286830. 2

5362286831. 3
5362286832. 4
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Question Number : 59 Question Id : 5362281755 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362286833. 1
5362286834. 2
5362286835. 3
5362286836. 4

Question Number : 59 Question Id : 5362281755 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362286833. 1
5362286834. 2
5362286835. 3
5362286836. 4

Question Number : 60 Question Id : 5362281756 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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T =00 A
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3. (P41B, CARRE
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Options :

5362286837. 1
5362286838. 2
5362286839. 3
5362286840. 4

Question Number : 60 Question Id : 5362281756 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



RIS ATALEH (TE PG NS [T (FY G DOAP0 WG-W&E TE)

(H&EA =e1:

A FgS 6T GRATAE *F TAMHS T s Fa09 S|

B. WA FIIAT TOF FGS A A6 T8I T (NAFS qifod 25 & Moa"
> 15 P PO WHa =0T T

C. UG I8 T (55032) DA FLIFI6 9o NXFe TS 923 FafaE=|

D. RIS AEIYGH (G N0, Ta1d 3 RLAIaie [Nty J18s o ararg o=
T =00 A

E. 72 & o merwrarg o< o9 g garm Y 5|

oME TP (I-egGre 9o T8d &7, (G =

1. (F9<TB, C AR D
2. (P41 C, DARE
3. (P41B, CARRE
4 (PITA B AR C

Options :

5362286837. 1
5362286838. 2
5362286839. 3
5362286840. 4

Question Number : 61 Question Id : 5362281757 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



S Fa AR RS R R G S 1 O P31 3 = e P 5 [ B R
G AT FCHOT (T B ALIRCH TN BIIA O H L =4

1. /o9
2.4
3. 7o
4, AT

Options :

5362286841. 1
5362286842. 2
5362286843. 3
5362286844. 4

Question Number : 61 Question Id : 5362281757 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

OGSO WEEHI BIR*T ASF (T STRI DI (AT THRA
EAIF ALY FTEO) (A B ACCATT JHT I T g4l =2

1. fon
2. 9%
3. 7@
4, S5Cdl

Options :

5362286841. 1
5362286842. 2
5362286843. 3
5362286844. 4

Question Number : 62 Question Id : 5362281758 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



YUA-AELT T (U AT FAPC TS G (8T =4

A S STASE (FATS AR P-CT 51 OIS OIS TR | J-(T (TS =itk 2071
AT Irard SoTCe] bz |

B. @ =iy T FI =g g i g Fi Ry w16z 8 s ararg au=
&S (F 0N (51!

C. TINTF Yd 4N 28T BHS 8| IS~ (FITAG BIFId Wold WA WAS 2R
R =R (B (SR

D. (A5 SINIF ST A0 ATGUR (TEGHE WINTE, 4 FU SEECNAT I WF HHEdl
O | T 1Y (UG fRT® #N1fF (73058 921 W1, 4% =1 ST Giood )
IEA A(P® (AP GANNH A% TBsed 3 it 2.

1.BC A D
2.0,B AC
3.A,D,B C
4.0, A B, C

Options :

5362286845. 1
5362286846. 2
5362286847. 3
5362286848. 4

Question Number : 62 Question Id : 5362281758 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



YUA-AELT T (U AT FAPC TS G (8T =4

A S STASE (FATS AR P-CT 51 OIS OIS TR | J-(T (TS =itk 2071
AT Irard SoTCe] bz |

B. @ =iy T FI =g g i g Fi Ry w16z 8 s ararg au=
&S (F 0N (51!

C. TINTF Yd 4N 28T BHS 8| IS~ (FITAG BIFId Wold WA WAS 2R
R =R (B (SR

D. (A5 SINIF ST A0 ATGUR (TEGHE WINTE, 4 FU SEECNAT I WF HHEdl
O | T 1Y (UG fRT® #N1fF (73058 921 W1, 4% =1 ST Giood )
IEA A(P® (AP GANNH A% TBsed 3 it 2.

1.BC A D
2.0,B AC
3.A,D,B C
4.0, A B, C

Options :

5362286845. 1
5362286846. 2
5362286847. 3
5362286848. 4

Question Number : 63 Question Id : 5362281759 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

CTEW ST AGE ((5ME 910gd 961 (I NITH 91608, (72 WY =4

1. WA=
2. (ATH

3.9
4. FTABT

Options :



5362286849. 1
5362286850. 2
5362286851. 3
5362286852. 4

Question Number : 63 Question Id : 5362281759 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

CTEW STl ACGE ‘(9ME 910Ed 96+ (I WA 91608, (572 WY =4

1. WA=
2. (T

3. WMH

4, Plepaz=y
Options :
5362286849. 1
5362286850. 2

5362286851. 3
5362286852. 4

Question Number : 64 Question Id : 5362281760 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



SITE 20 (B143 29F WheTa AU ST SRR A1) 492 [Fory wiiem

HATHT W (ST =T
NIGEIR wiferas 2
A, STHET (F6 OS] GG (9 FEi ABEs |1 B WEleol—
(ofd o 92 S| U GEERIEE ]
B. AL-T13eTd (IR T HE TF WG, BT
= ' -I. oy

57 T =05 S &S qrae [{eETg| ERRHallEeTE
C. OitE Wraal I2412 STUNALS 3 F1PE i, STIE[STST 9Ty
o4 T iz guryf 3] Bfere o
D. FIREId ©Ed 0% G orNd (@i

ﬁ m_?ilﬁ e v sldEES

A H(HPO (HF Beldd [APHID 26T

1T.A-ii,B-ii,C-iv, D-i
2A-i,B-ii,C-iv, D4
3.A-i,B-iv, C-iii, D
4 A-iv,B-iii, C-ii/D -1

Options :

5362286853. 1
5362286854. 2
5362286855. 3
5362286856. 4

Question Number : 64 Question Id : 5362281760 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



SITE 20 (B143 29F WheTa AU ST SRR A1) 492 [Fory wiiem

HATHT W (ST =T
NIGEIR wiferas 2
A, STHET (F6 OS] GG (9 FEi ABEs |1 B WEleol—
(ofd o 92 S| U GEERIEE ]
B. AL-T13eTd (IR T HE TF WG, BT
= ' -I. oy

57 T =05 S &S qrae [{eETg| ERRHallEeTE
C. OitE Wraal I2412 STUNALS 3 F1PE i, STIE[STST 9Ty
o4 T iz guryf 3] Bfere o
D. FIREId ©Ed 0% G orNd (@i

ﬁ m_?ilﬁ e v sldEES

A H(HPO (HF Beldd [APHID 26T

1T.A-ii,B-ii,C-iv, D-i
2A-i,B-ii,C-iv, D4
3.A-i,B-iv, C-iii, D
4 A-iv,B-iii, C-ii/D -1

Options :

5362286853. 1
5362286854. 2
5362286855. 3
5362286856. 4

Question Number : 65 Question Id : 5362281761 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



HaSod GUGGbd SATE-TY JFGTHE AR N— (HNGNON biaa THaold

FIOUT (BT |
SJE (AH5TTATOA BN PG :

1. WGP
2. Zfo=fe
3. U2
4. foa<d

Options :

5362286857. 1
5362286858. 2
5362286859. 3
5362286860. 4

Question Number : 65 Question Id : 5362281761 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

WfgEod FGod Sam=TT SFGTIE ERia~— (5Tre biEd maend
'Tf?[ﬂ WISCH

SIE (HE5TATOA ZE PG

1. SIGIPTE

2. Ffo=e

3. VR

4. foa<d
Options :
5362286857. 1
5362286858. 2

5362286859. 3
5362286860. 4

Question Number : 66 Question Id : 5362281762 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No



Correct Marks : 2 Wrong Marks : 0

It vt (9@ (qawr ==

g1 1: MIfet ST INN WA (AT (741 T T AFIOF (BUF 26|
(49 2. ‘oiF© ST AW BLeTY (N oG T2y SE |
Tortad wit (3o «if@tafiers St Aters 36 Gealt ==

1. Goy [43fez O
2. 4915 1 3 o7 9909 2 we
3. [43f® 1 1 g €999 2 B
4. Ty 490 ga

Options :

5362286861. 1
5362286862. 2
5362286863. 3
5362286864. 4

Question Number : 66 Question Id : 5362281762 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

<TG 76 [[991® (e 26

(<G 1: =(1fe] ST TN W (AT (M1 A A HeFH0F (BUF 26|
(3 2: 'AF® UG ALY G4 (I AOGT oy S|

T 76 [[QMOF “ARARFS N Ao 36 Gadlb =

1. Goy [931ez
2. 9915 1 3 15 [93h% 2 wa
3. [<91® 1 1 g 39 2 B
4. Ty [49fo% ga

Options :
5362286861. 1
5362286862. 2




5362286863. 3
5362286864. 4

Question Number : 67 Question Id : 5362281763 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

*ATRLAA 24 1569 AGSAAMY [[FoS OF FIIAIN°
3% 4% TEABE SrafE:

1. FANHY FFF
2. FAHET (7
3, WTETE ACATTETE
4. ST TS

Options :

5362286865. 1
5362286866. 2
5362286867. 3
5362286868. 4

Question Number : 67 Question Id : 5362281763 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

AR 2L 56 A @A (o O Fang|-
P 9% T8z FEmE:

1. FATIY ITFT
2. Mg (34
3. ST LAY
4, HSTHAY g

Options :
5362286865. 1
5362286866. 2



5362286867. 3
5362286868. 4

Question Number : 68 Question Id : 5362281764 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

FIAMG TS WD 0T PTG NG A6 (ST =

A GGG 495 (7% S0 FINMGIS o= AR A[TFg2 B

B. T4 BINMGR IS Ao AHE® Oithd W[SGNII 2 WIS (AP E FLAG gy
Brg el a2 Srafge

C. FUAMG ToiTOTa FAEE 96T (LT Sitag SR A Sraw

D. BIAMG ST NI 210 Qi 9T DL, WF GHOOL b9 18 B Geis

CACOPA AT TSASI (T TN RIS =AY, A0S A (B9 (12 P AP
T=glt ==

DA B, C
A C DB
B, D, A C
-B, G, D; A

e

Options :

5362286869. 1
5362286870. 2
5362286871. 3
5362286872. 4

Question Number : 68 Question Id : 5362281764 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



FIAG FTF HEF O FLAFI6 NG I (REH =

A. GGG 435 (T2 STUH SINIGIS A1 2LHRA APe12I ©Id

B. T4 PLAMGF T6To! T2 ARHGO OIHE ARSI I2 WIS (AP BIANG 7
fErsTa w9l a2 Srafea

C. FUANG FGITOTE STEE5 961 Mrg Oftnd SR T S

D. PG BT VLI 2104 Bl 318 PLd, WF GHOOF bi9g 313 BF GGG
COMAGES 0% @S (9 @0 [RE (AR, aNe SS9 (12 SN AHF
EERIEEGE

1.D,A B, C
2.AC,D B
3.BD,AC
4B, C D A

Options :

5362286869. 1
5362286870. 2
5362286871. 3
5362286872. 4

Question Number : 69 Question Id : 5362281765 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

=1t 7ib [[991@ (e ==

9 1. Q1eeT AT (PRI (I FAAAF AFES TG &g |
S 2. qreeTy A gaemi~asl@ (9 Wi, 99 29 wamiwa wars wiH)
THTAA 76 (YO ~ARARFS N Ao 55 Gadlt =

1. bod (M08 0

2. 931 1 3 g 99l 2 e

3. f39fS 1 w1 g fagfo 2 o
4. Goy [9Mo% gl



Options :

5362286873. 1
5362286874. 2
5362286875. 3
5362286876. 4

Question Number : 69 Question Id : 5362281765 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

It 7ib 9o (e ==

39 1: I IFTT (AT (FIAT FIAAF SFIGF BT G|
39S 2; sy A g~ af® (9 R/, 99 25 yawAe s ®H)
T 1o RGO =ARTFFre Sited Mo 36 Gadlb =

1. Gwd [(gMoR O
2. [49fe 1 3 g (9o 2 &
3. [99Mo 1 o= 1 [9f9 2 B
4, oy 4398 g

Options :

5362286873. 1
5362286874. 2
5362286875. 3
5362286876. 4

Question Number : 70 Question Id : 5362281766 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



G Yod (I-T FATT SIS UF FMIA! (RAd RSP (N0Gd TS
W T (RS TORIG WITE, O HLamTT Ze;

1, TSI

2. ARSI TR
3. AMGT WE=IST
4, TS

Options :

5362286877. 1
5362286878. 2
5362286879. 3
5362286880. 4

Question Number : 70 Question Id : 5362281766 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

GIATHeq (I-SIE FLATT SRS U2 Faal (ald RRIUTEE mod 2o
SIS LY (RS WO WILE, OTF #Laers 2+

1, STRTSIE

2. AIRTSI STR
3, MG SRS
4, STHH: S

Options :

5362286877. 1
5362286878. 2
5362286879. 3
5362286880. 4

Question Number : 71 Question Id : 5362281767 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



[T PLIT EMF 51 WIAFA A6 76 (K910 (ST 24, T G5 NS & WHI6 O/F
HITATSE I

TE4T: NG (0T A= 57d FeAlG (A hg OeTrd AP (Frae|

e (I02Q 29d (T WA (BT WI0R O (57 (G STaiea|

TR 7o YO ~ARARFS N Ao 35 Gadl’ =

1. T 8 Y@ Oois 55
2. W@ 3% S8 Pt oo
3. WS vt 8 &t 3
4. T84T & Yfe GoIz we

Options :

5362286881. 1
5362286882. 2
5362286883. 3
5362286884. 4

Question Number : 71 Question Id : 5362281767 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

[Ne P 2 5T WLETH ~1CE 6 (4919 (e Zeipid IBib N S30ns SBiGa
AT I

TEAT: SIEF (T A= 20g Fel5 (QhF Dl [Py (Freraa|

Ifer: (=T 29T (T W (HIATT S0E T (7 (G (58fee|

TR Tib ([0 ~ARARFS W A0 55 Gadlt =0k

1. W& 8 IS Gogs 2%
2. TBIG 5% 7 L&t oo
3. WS wet (o8 I B
4. TBA] & Ifer Gouz oed

Options :
5362286881. 1



5362286882. 2
5362286883. 3
5362286884. 4

Question Number : 72 Question Id : 5362281768 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

I BLAPIG A *1% (SN 2, AF T PLAPIG ASFONIO O *1% <1 ghost word-
£ THEET:

E. Nagw
AITHa ATHTO &Y FFOM TS B *19 91 ghost word- I8 GARIT WL (3 RSO0
(G =4

(PFeT A B AR E
(P9l B, D A9 E
(P A, C HDR E
(P9I B, C 43 D

B R

Options :

5362286885. 1
5362286886. 2
5362286887. 3
5362286888. 4

Question Number : 72 Question Id : 5362281768 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



TG FITSIO I *F (ROT =4, TF VT SIS0 T FOIMTS G #37 [ ghost word-
£ SRR

A. THI5)

B. TIIBI

C. (A1

D. o1&

E e

SITHA ST Y TFOMNS GFl *15 A ghost word-IF BRIEI WR (T (G,
(A5 =

1. (PgeT A B &9 E
2. (P9« B, D &4 E
3. (PgeT A, C A4S E
4, (P4 B, C 4R D
Options :
5362286885. 1
5362286886. 2

5362286887. 3
5362286888. 4

Question Number : 73 Question Id : 5362281769 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

T WA NIGUE AT L (F S0 W|Ig, (s =4

1. 721 I (P T?

2. TfF R 2T 2 TONbIa
3. 81 21 e AAfeTeT S AW
4. 94, (< WIl7 HH4Eid?

Options :
5362286889. 1



5362286890. 2
5362286891. 3
5362286892. 4

Question Number : 73 Question Id : 5362281769 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

T T NIGUE AUEFITd S (F 56 =g, (76 ==

1. 521 I (FT TA?

2. XfF YR 2ATII 2 TONHIR
3. &TF 21 FeTw Hfere] g W
4, YIq, (P YR N[44z

Options :

5362286889. 1
5362286890. 2
5362286891. 3
5362286892. 4

Question Number : 74 Question Id : 5362281770 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



AT AEACT AT B [ofa FF NG FIFHI0 NS Pl =40

A AT =0T TN 2w e

B. STNICRE W& Ifa zeTarasa of=d IErag g B Whg | —a% Iedd
SJta Yo el APHH-INTI (03 AB V(T WAIAT WIS 2579
HIeA A |

C. AL A CTH FH-STNCT 213 FLIE |

D. AT I FE AT FTHFACE (2T (TR 493 CFalauenT *M3E S
IG5 (TS (TR |

E. RFINGF *NHAAT J95 IFTE *THRAA— (FIAT (ST @S e = Amaem|

Ao el (9 ©iF JFNg 2T B

oE T Plw (- Regtre T9ah 859 &7, (3G =

1. (P91 A B AR C
2.(P4e1B, CARD
3.(F4FIC, D E4RE
4 (PFID, E L9 A

Options :

5362286893. 1
5362286894. 2
5362286895. 3
5362286896. 4

Question Number : 74 Question Id : 5362281770 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



AT AEACT AT B [ofa FF NG FIFHI0 NS Pl =40

A AT =0T TN 2w e

B. STNICRE W& Ifa zeTarasa of=d IErag g B Whg | —a% Iedd
SJta Yo el APHH-INTI (03 AB V(T WAIAT WIS 2579
HIeA A |

C. AL A CTH FH-STNCT 213 FLIE |

D. AT I FE AT FTHFACE (2T (TR 493 CFalauenT *M3E S
IG5 (TS (TR |

E. RFINGF *NHAAT J95 IFTE *THRAA— (FIAT (ST @S e = Amaem|

Ao el (9 ©iF JFNg 2T B

oE T Plw (- Regtre T9ah 859 &7, (3G =

1. (P91 A B AR C
2.(P4e1B, CARD
3.(F4FIC, D E4RE
4 (PFID, E L9 A

Options :

5362286893. 1
5362286894. 2
5362286895. 3
5362286896. 4

Question Number : 75 Question Id : 5362281771 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



NITE AT ORI FCIFI6 QU OIFT 92 GO SIS (573 Ordl (TS W5 s
M HS =

OIfeTe 1 RIGEI
A, (ATETH i, I

B. STH i, 2O
C. T iii. B<ANG
D. [FErasmen iv. (T 5eT
E TR vw

ANE [P (38 Ba(dd [[PHI0 2
1.A-iB-iiC-iv, D-v,E - ii
2. A-ii.B-iii,C-i, D-v E-iu
3. A-ii.B-i C-iii, D-v, EAiv
A A-iv,B-iii. C-i D-vwE-~ii

Options :

5362286897. 1
5362286898. 2
5362286899. 3
5362286900. 4

Question Number : 75 Question Id : 5362281771 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



NITE AT ORI FCIFI6 QU OIFT 92 GO SIS (573 Ordl (TS W5 s
M HS =

OIfeTe 1 RIGEI
A, (ATETH i, I

B. STH i, 2O
C. T iii. B<ANG
D. [FErasmen iv. (T 5eT
E TR vw

ANE [P (38 Ba(dd [[PHI0 2
1.A-iB-iiC-iv, D-v,E - ii
2. A-ii.B-iii,C-i, D-v E-iu
3. A-ii.B-i C-iii, D-v, EAiv
A A-iv,B-iii. C-i D-vwE-~ii

Options :

5362286897. 1
5362286898. 2
5362286899. 3
5362286900. 4

Question Number : 76 Question Id : 5362281772 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



T S5Ta 1 ) 1 PR e ) B - 2 ) A B A M s e e 2 - R | R BT R
PRRA O PLAFIG WG (R8T =
A Gnoel
B. q0IfY
C. &M
D. OIN4

510 Wl (F @0 (4909 20U08 oWs SIHLo (HE Gud 3% [APgio 2.

1.ABDC
2.C,B,D A
3.0,CA B
4.D A B C

Options :

5362286901. 1
5362286902. 2
5362286903. 3
5362286904. 4

Question Number : 76 Question Id : 5362281772 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



T S5Ta 1 ) 1 PR e ) B - 2 ) A B A M s e e 2 - R | R BT R
PRRA O PLAFIG WG (R8T =
A Gnoel
B. q0IfY
C. &M
D. OIN4

510 Wl (F @0 (4909 20U08 oWs SIHLo (HE Gud 3% [APgio 2.

1.ABDC
2.C,B,D A
3.0,CA B
4.D A B C

Options :

5362286901. 1
5362286902. 2
5362286903. 3
5362286904. 4

Question Number : 77 Question Id : 5362281773 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



AT Toar FNAT G [©fg B1F I PLIBIb B Hdl 24
A foar Snarg a1 fFFae (g SHeit e zrafes erger sfger|
B. Toar S SR HEOI0 (o141 =9 Fereniag I |

C. GNP SAGIAAE [REEd O, MRS CTMUHT ALSH FEd TP
WIEA--- (P (PICAT BEAOE A foar Saa 4 J2 K2 ©lad ARIEN 75
&40 T

D. foarg wan= et Seamsy sifar
E. Toar SN 2We O] WA (ATNT WGIH BHos ANAF @y 6o
HAWa e rw (1-Rgiore T9ii Tedr w7, (6 26,

1. (P D, E 4GS A
2. (PIT A, B A3 C
3. (BB, C AR D
4. (PI1C, D AR E

Options :

5362286905. 1
5362286906. 2
5362286907. 3
5362286908. 4

Question Number : 77 Question Id : 5362281773 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



AT Toar FNAT G [©fg B1F I PLIBIb B Hdl 24
A foar Snarg a1 fFFae (g SHeit e zrafes erger sfger|
B. Toar S SR HEOI0 (o141 =9 Fereniag I |

C. GNP SAGIAAE [REEd O, MRS CTMUHT ALSH FEd TP
WIEA--- (P (PICAT BEAOE A foar Saa 4 J2 K2 ©lad ARIEN 75
&40 T

D. foarg wan= et Seamsy sifar
E. Toar SN 2We O] WA (ATNT WGIH BHos ANAF @y 6o
HAWa e rw (1-Rgiore T9ii Tedr w7, (6 26,

1. (P D, E 4GS A
2. (PIT A, B A3 C
3. (BB, C AR D
4. (PI1C, D AR E

Options :

5362286905. 1
5362286906. 2
5362286907. 3
5362286908. 4

Question Number : 78 Question Id : 5362281774 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



TG ANy (B AT WA 9t €900 (Raw =4, 919 4516 TR)9T & W=IG ©rd
SICATE I

TETT:  ETNIRE FEFE IO W AEEH 2R JFISY WA TR
I’ ST SN TEIEI ASH T FET

AT HiG (9910 ARTARFT® Nhd A (00 5F Gedi’ =0

1. U847 & I Godt P
2. TBAG 5% g TG o
3. TG ue (8 I it B

4, T84T & I[& GOz o

Options :

5362286909. 1
5362286910. 2
5362286911. 3
5362286912. 4

Question Number : 78 Question Id : 5362281774 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :
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5362286910. 2
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Question Number : 79 Question Id : 5362281775 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

"IN F1 T W OeH A Gl e s (AR —
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Options :

5362286913. 1
5362286914. 2
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Question Number : 79 Question Id : 5362281775 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :
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Question Number : 80 Question Id : 5362281776 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362286917. 1
5362286918. 2
5362286919. 3
5362286920. 4



Question Number : 80 Question Id : 5362281776 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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5362286917. 1
5362286918. 2
5362286919. 3
5362286920. 4

Question Number : 81 Question Id : 5362281777 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362286921. 1
5362286922. 2
5362286923. 3
5362286924. 4

Question Number : 81 Question Id : 5362281777 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :
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Question Number : 82 Question Id : 5362281778 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362286925. 1
5362286926. 2
5362286927. 3
5362286928. 4

Question Number : 82 Question Id : 5362281778 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :
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5362286926. 2
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Question Number : 83 Question Id : 5362281779 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :
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5362286930. 2
5362286931. 3
5362286932. 4

Question Number : 83 Question Id : 5362281779 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 84 Question Id : 5362281780 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362286933. 1
5362286934. 2
5362286935. 3
5362286936. 4

Question Number : 84 Question Id : 5362281780 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362286933. 1
5362286934. 2
5362286935. 3
5362286936. 4

Question Number : 85 Question Id : 5362281781 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362286937. 1

5362286938. 2

5362286939. 3
5362286940. 4 ad d
Question Number : 85 Question Id : 5362281781 Question t aN o Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :
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Question Number : 86 Question Id : 5362281782 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362286941. 1
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Question Number : 86 Question Id : 5362281782 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :
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5362286942. 2
5362286943. 3
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Question Number : 87 Question Id : 5362281783 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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5362286946. 2
5362286947. 3
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Question Number : 87 Question Id : 5362281783 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :
5362286945. 1
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Question Number : 88 Question Id : 5362281784 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :
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Question Number : 88 Question Id : 5362281784 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :
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Question Number : 89 Question Id : 5362281785 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :
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Question Number : 89 Question Id : 5362281785 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 90 Question Id : 5362281786 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



[AGaTed F1T WIAHA GIRTAISTAT HAF 215w 5T ST S
FLIAP6 MGG AT 6 (A8 2.

A YO e

B 2SO

C X5

D.CoTTR

£ G

NTHA S(F0 (ATF PTG GLECd 35 Fiud &5 [Fgie =

LB &EE
2CBEAD
3.4 EB. D C
4 EB,CAD
Options :
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5362286958. 2

5362286959. 3
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Question Number : 90 Question Id : 5362281786 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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5362286957. 1
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Question Number : 91 Question Id : 5362281787 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 91 Question Id : 5362281787 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 92 Question Id : 5362281788 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :
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5362286967. 3
5362286968. 4

Question Number : 92 Question Id : 5362281788 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 93 Question Id : 5362281789 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362286969. 1
5362286970. 2
5362286971. 3
5362286972. 4

Question Number : 93 Question Id : 5362281789 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362286969. 1
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Question Number : 94 Question Id : 5362281790 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 94 Question Id : 5362281790 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

(BIGIE Bi4® WY BT &9 AT 00 (QRITNT AR

1. Do 984
2. o q2ldd HLd 924
4. foq T81

Options :

5362286973. 1
5362286974. 2
5362286975. 3
5362286976. 4

Question Number : 95 Question Id : 5362281791 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 95 Question Id : 5362281791 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :
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Question Number : 96 Question Id : 5362281792 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :
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Question Number : 96 Question Id : 5362281792 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 97 Question Id : 5362281793 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 97 Question Id : 5362281793 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 98 Question Id : 5362281794 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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C. ST GIToR %6 Pl WITERE Hea=2d PG (W0 HITRRie= g=mi|
D. ST BFITord AiEFrels! f&e GI=g Sfgsng|

E. R wiBw fEre= widw Ered I

S He (PO (I- g Bre A9 n TSd) &7, (G 2

1. (LT A B d48 C
2.(Pqe1B, CE9s D
3.0591 C, D Ed5 E
4. (P D, E &9 A

Options :

5362286989. 1
5362286990. 2
5362286991. 3
5362286992. 4

Question Number : 98 Question Id : 5362281794 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



(o™ FTgd T 57 WITFL AILE FLNPI6 Sa-W&T TS (ST =%
A. (RTINS S SREEI ST S5 S0 Sldige [

B. ST QI ¥V JHIGNIE *1 (AR $5'9% A4 ¢ |G|

C. ST BT 6N Fle STER He 8= PG (W FHURReE= T=mi|
D. ST BITord HiErerers! [&e Tuem=g wiEsna|

AR EIGERE R GIE T RIC ]

HAE H(Plo (I-FFFore T9F0 N4 8%, (6 =6

1. (P91 A B AR C
2.(P4e1B, C 4R D
3.(PF41C, D g4 E
4 (P41 D, E LR A

Options :

5362286989. 1
5362286990. 2
5362286991. 3
5362286992. 4

Question Number : 99 Question Id : 5362281795 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



5B ﬁfﬁ RS9 I~ TIMOd HRACad =T |G (& 2

4449

SITEd 0D (GY (AT FAHT (9 FLNd BF [FFIe 2o

1.EB.CAD
2.CAEBD
3.5, B,. DA E
4.B,D, A EC

Options :

5362286993. 1
5362286994. 2
5362286995. 3
5362286996. 4

Question Number : 99 Question Id : 5362281795 Question Type : MCQ.Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



5B ﬁfﬁ RS9 I~ TIMOd HRACad =T |G (& 2

4449

SITEd 0D (GY (AT FAHT (9 FLNd BF [FFIe 2o

1.EB.CAD
2.CAEBD
3.5, B,. DA E
4.B,D, A EC

Options :

5362286993. 1
5362286994. 2
5362286995. 3
5362286996. 4

Question Number : 100 Question Id : 5362281796 Question Type : MCQ Option, Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



AN A P HATFHEAT WG FI I FIAPI6 SF- & NI4T
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A. fRafoFeTmaRen: et Sy 03 o 20w g it 2w
B. (IMLGH Gvy® MUF =1 Wi 8 T o<

C. ‘G THW AACHT YOI WG () TFFOF 2TT N7 |

D. ‘CT™THE THA' 2TH G0 W 47  Grg---' (F6A 601 [oonT |

E. "SIE U0l (¥1Ee SESTS 0T 431 — 4% 2610 GRyo 20 g
THEPE 8 g Wit 7t 2[Ha|

AE H (P00 (I-Fegiore A9Hic I68<) &7, (G =60

1. (PITA B 4d: C
2. (P91 A D IAARE
3.(3FEC, D S48 E
4 (P91 A D AR E

Options :

5362286997. 1
5362286998. 2
5362286999. 3
5362287000. 4

Question Number : 100 Question Id : 5362281796 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



AN A P HATFHEAT WG FI I FIAPI6 SF- & NI4T
(S =2

A. fRafoFeTmaRen: et Sy 03 o 20w g it 2w
B. (IMLGH Gvy® MUF =1 Wi 8 T o<

C. ‘G THW AACHT YOI WG () TFFOF 2TT N7 |

D. ‘CT™THE THA' 2TH G0 W 47  Grg---' (F6A 601 [oonT |

E. "SIE U0l (¥1Ee SESTS 0T 431 — 4% 2610 GRyo 20 g
THEPE 8 g Wit 7t 2[Ha|

AE H (P00 (I-Fegiore A9Hic I68<) &7, (G =60

1. (PITA B 4d: C
2. (P91 A D IAARE
3.(3FEC, D S48 E
4 (P91 A D AR E

Options :

5362286997. 1
5362286998. 2
5362286999. 3
5362287000. 4

Question Number : 101 Question Id : 5362281797 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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A. T 5rSIF O3 57 FREI (7Y, TT (AT FE Fansa| FFg Tore
FITE W=1.a g I

B. [T 9 29 W4y 81 “F 093 W (91 W W@ 2dd WY | (L fof
(I g ==, ol (g

C. TRAGHITS FETF Ho WP, FrEGHNs 0T AoT|

D. TG~ W4T, WISTIT YT SBICNI A -- ©Nad WAwd | 920 7 JWE (F
[ietes Mg Te s |

E. FTENd W FHIHA WA T5 227 A GINR | GeE WHF (TIF WA
Ol W BT B, N (ORI WANT FAPIE PIAEUTTI F=E LS (iR
BT (L (372 O1EF W3 o, OIRId BIfE Ml (B @asid Wz

TR 2[QUF (T T 0T A0, Ai6d Ao o 5% [l ==

1. ABE B
2.A,D B EC
3., A D EB
4B, ADEC

Options :

5362287001. 1
5362287002. 2
5362287003. 3
5362287004. 4

Question Number : 101 Question Id : 5362281797 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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A. T 5rSIF O3 57 FREI (7Y, TT (AT FE Fansa| FFg Tore
FITE W=1.a g I

B. [T 9 29 W4y 81 “F 093 W (91 W W@ 2dd WY | (L fof
(I g ==, ol (g

C. TRAGHITS FETF Ho WP, FrEGHNs 0T AoT|

D. TG~ W4T, WISTIT YT SBICNI A -- ©Nad WAwd | 920 7 JWE (F
[ietes Mg Te s |

E. FTENd W FHIHA WA T5 227 A GINR | GeE WHF (TIF WA
Ol W BT B, N (ORI WANT FAPIE PIAEUTTI F=E LS (iR
BT (L (372 O1EF W3 o, OIRId BIfE Ml (B @asid Wz

TR 2[QUF (T T 0T A0, Ai6d Ao o 5% [l ==

1. ABE B
2.A,D B EC
3., A D EB
4B, ADEC

Options :

5362287001. 1
5362287002. 2
5362287003. 3
5362287004. 4

Question Number : 102 Question Id : 5362281798 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



A DEINIIEA 2B BN WIATA NI(b BPLAPI6 & - &7 TFD (ST =
A. FARI TACAR F=4f W [T 6T S|

B. TTAAT0E W WIS (2 =g d|
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E. $3F *MNCS G Tral S0E (T Ao (00 (AT |

SHE He(Flw (I-Segtre 9ot T8d &7, (3G =

1. (PFTA B R C
2.(P4B, C, &4k D
3. (P91 C, D LR E
4 (PITA D IR E

Options :

5362287005. 1
5362287006. 2
5362287007. 3
5362287008. 4

Question Number : 102 Question Id : 5362281798 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



A DEINIIEA 2B BN WIATA NI(b BPLAPI6 & - &7 TFD (ST =
A. FARI TACAR F=4f W [T 6T S|

B. TATHGE S WrST=1 e I2aw+[d|

C. FAA WoNo baas g WMoy b

D. TR AWML (TN57 (RSHT TANF IR (79 ATl BIFl|

E. $3F *MNCS G Tral S0E (T Ao (00 (AT |

HE H (o (1-FFgiore A9 NEd] &%, (6 =

1. (PFTA B R C
2.(P4B, C, &4k D
3. (P91 C, D LR E
4 (PITA D IR E

Options :

5362287005. 1
5362287006. 2
5362287007. 3
5362287008. 4

Question Number : 103 Question Id : 5362281799 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

(CUIToia® «aid a0 Sy I~ N G0 (3 Es Wil ST G 26

. 53] PTG [l
NGkl CEGERG
S AIIGro] PLeid Wl

B

Options :

5362287009. 1
5362287010. 2
5362287011. 3



5362287012. 4

Question Number : 103 Question Id : 5362281799 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

(GuTTTE® ~ig TR0’ ST0E ©I= NI G (F W6 Wy A01%e (716 26

1. W51 Fe1g T
PR || I G ER G

3. $A PLeAd e

4. WHMGrol FLeAg Tl

Options :

5362287009. 1
5362287010. 2
5362287011. 3
5362287012. 4

Question Number : 104 Question Id : 5362281800 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



SIHT T PIATI PLIPG N WY T ST iE (eT =01 A9 W& PITP0
7 8 PLABID AGG

A csmyfer @ fite - oot sisf

B o B - 5ol 75f

C (& Of Y - T9 w5f

D ®*er, HE-CTw-! & 7 - WET 579

E WA AT - AT Hsf

TS PO (I- GBI FIBI6 5l N4 &%, (6 =+

1. (PIET A B 498 C
2. (P91 B, CE495 D
3.(FHIEC, D d4: E
4 (PITACHUQRE

Options :

5362287013. 1
5362287014. 2
5362287015.3
5362287016. 4

Question Number : 104 Question Id : 5362281800 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



SIHT T PIATI PLIPG N WY T ST iE (eT =01 A9 W& PITP0
7 8 PLABID AGG:

A csmyfer @ fite - oot sisf

B o B - 5ol 75f

C (& Of Y - T9 w5f

D wif¥rer, (BE- =T 8 Jar - =gy 575f

E WA AT - AT Hsf

TS PO (I- GBI FIBI6 5l N4 &%, (6 =+
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2. (P91 B, CE495 D
3.(FHIEC, D d4: E
4 (PITACHUQRE

Options :

5362287013. 1
5362287014. 2
5362287015.3
5362287016. 4

Question Number : 105 Question Id : 5362281801 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

OIS 8 AYITR =19« YK wild

G FHEIHI WA |
WHATN 5 FIA] OI9060Hd A% BTNt (F S0 WE (g =Y =4
1. B
2, *Ea
3. TIHOITHA
4, ST

Options :



5362287017. 1
5362287018. 2
5362287019. 3
5362287020. 4

Question Number : 105 Question Id : 5362281801 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

TS 8 AT O He OIS
A0 PHEIHT WA ||
AW FE) OIF960Hd 42 SIToN5 (F W0 | (Aod ~rd 24

1. BT

2. g

3. IOl

4, SR
Options :
5362287017. 1
5362287018. 2

5362287019. 3
5362287020. 4

Question Number : 106 Question Id : 5362281802 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Sttea WG Wi Tad 999 AU 12 WGP (ATT PTG HeelH & BiEarag wy

(& 24

SIS 1 RIGEaE
AT THE W i, Pof

B. @ Il ¥, T5 OILaT: HIGIE SN+ 5@ |ii. (A=Al
CI0F 9 (A Fofere =9 Slamd iii. a1
D.IZ2I (PIAT FH (3 GO iv. I

I BB TGS [ FLA 2ARS AP0 5P Geldd [P 2

1. A-iv, B-iii, C- i, D-i
2. A-i, B-iii, C-ii, D-iv
3. A-iii B-iv, C-ii, D-i
4. A-iv, B-ii, C- iii, D-i

Options :
5362287021. 1

5362287022. 2
5362287023. 3
5362287024. 4

Question Number : 106 Question Id : 5362281802 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Sttea WG Wi Tad 999 AU 12 WGP (ATT PTG HeelH & BiEarag wy

(HEHT =21

RIGER RIGEaE
AT THE W A f

B. @ Il ¥, T5 OILaT: HIGIE SN+ 5@ |ii. (A=Al
CI0F 9 (A Fofere =9 Slamd iii. a1
D.IZ2I (PIAT FH (3 GO iv. I

OIeTP] Hod AN [ A e AP0 55 5ol [[KPHIb 26

1. A-iv, B-iii, C- ii, D-i
2. A-i, B-iii, C-ii, D-iv
3. A-iii B-iv, C-ii, D-
4. A-iv, B-ii, C- iii, D-i

Options :

5362287021. 1
5362287022. 2
5362287023. 3
5362287024. 4

Question Number : 107 Question Id : 5362281803 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

 LFE [ 0 Toror NIGlE TS *iHd WY (T 5iEai® Gre (GrIEed, og 7y =

1, (55

2.

3. 91I%

4, AL=2%
Options :
5362287025. 1
5362287026. 2



5362287027. 3
5362287028. 4

Question Number : 107 Question Id : 5362281803 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

- ATFE [ I Torar NGl S *%d WY (¥ 5Ealt S-re (GUaRd, OIh = ==
; EEE\:#;EI
=

bW

Options :

5362287025. 1
5362287026. 2
5362287027. 3
5362287028. 4

Question Number : 108 Question Id : 5362281804 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



G TG WOUH] ©IFo el PIGrRd ~Is (O] =67
A @EG
B. wla]=Z

C. GorqIY
D. ®HG

AH ATFS (A OIHd WFend 3 Fuft ==

1.8, D A C
2.D,CBA
3.A,CD. B
4B, A D C

Options :

5362287029. 1
5362287030. 2
5362287031. 3

5362287032. 4
Question Number : 108 Question Id : 5362281804 Questima d)a No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0




G TG WOUH] ©IFo el PIGrRd ~Is (O] =67
A @EG
B. wla]=Z

C. GorqIY
D. ®HG

AH ATFS (A OIHd WFend 3 Fuft ==

1.8, D A C
2.D,CBA
3.A,CD. B
4B, A D C

Options :

5362287029. 1
5362287030. 2
5362287031. 3

5362287032. 4
Question Number : 109 Question Id : 5362281805 Questima d)a No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0




NI VOEe EXEICNE S0 EL4d Sars FRol (AF FEF0 & (MeT =
A, TG ST GFl, AR, 197G,

B. WG (G (FITHT 9 4

C. SISt BI5{eT 919, 2 N,

D. TG 257 I8, %57 Ias,

NITHd FFS (AT Fiaory f:feafam Srars g w5 [95aft =0

1.B,A D, C
2.A,CBD
3.C,0D,AB
4.D,B, A C

Options :

5362287033. 1
5362287034. 2
5362287035. 3
5362287036. 4

Question Number : 109 Question Id : 5362281805 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

NI Ve BN S0 L 4d Sars FEol (AF FEFo A& (8T =
A. TG S5 GFl, R, 194E,

B. WG A5 (FILAF T 4fF
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2ACE D
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4.D,B A C



Options :

5362287033. 1
5362287034. 2
5362287035.3
5362287036. 4

Question Number : 110 Question Id : 5362281806 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

o e omnie, 230 Seahie, B oge =EE eAeEas
— A S R oy Sfafde 43 S ==

1. AAHH 1S

2. ARG (AT
3. AEAGH BLEIAITY
4. oY T

Options :

5362287037. 1
5362287038. 2
5362287039. 3
5362287040. 4

Question Number : 110 Question Id : 5362281806 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

o e Fomnhie, 2EEN Jomhe, By ogd 2569 eARas |
— FAHANE WY RO AU Sfade 43 o ==

AT T e
. AE AT BLEIAEIT
4, = *E

W opg =



Options :

5362287037. 1
5362287038. 2
5362287039. 3
5362287040. 4

Question Number : 111 Question Id : 5362281807 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

SNIE SIS N4 T sngd 2w onidan of 957 ar a7 3fs o7 smy,
(37 518 =+

1. e
ferd

L P

4.

Options :

5362287041. 1
5362287042. 2
5362287043. 3
5362287044. 4

Question Number : 111 Question Id : 5362281807 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

N 1 G R 11 ) 3 e 1 < ) = < | 3 1 B I 0 R o R s s SO R ) 47
(37 5% =+

1. e
e
Gilse
fora

Options :

B



5362287041. 1
5362287042. 2
5362287043. 3
5362287044. 4

Question Number : 112 Question Id : 5362281808 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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A TG Q&

I BT (W0 v. ARIEHG Helg e : .

26 (H1G] 296 (O0S
(NCOTZ OIS B =4 (A1 7%, Do AOTOR FgTo
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o OIEPE NI ATNE [[Y B A H(FCO (5P Geldd [Pgib 2o

ii. 2 WAk S9S BR

iii. #ATG Nrard $a9a 85

m

1.A-iv,B-v,C-i D-ii E-iii
2. A-iv,B-ii,C-v,D-iii, E- i
3.A-iii,B-ii,C-i,D-v,E-iv
4. A-iv,B-ii,C-i, D-v E-ii

Options :



5362287045. 1
5362287046. 2
5362287047. 3
5362287048. 4

Question Number : 112 Question Id : 5362281808 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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adda2yT



S ORI FLISIG A 492 [Gory OIeTarg FITF0 Bld P Gy Tl =40

ST 1 SIfeTT 2
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{11 YT GIPIGIS i Melge BT
WIEMIGI Hd S B (d1

B. GO 2B TU+
AR |
Yl (372 319 4R (%19
ESIIGIERSERIE

C. A (FTF AR
5] I PN P,
TEFI= T8, TGN
I SIES W= |

D. H&sd IO g Wel
fﬁ;@? EE;"SW iv. BT W& S48 29
A TG Q&

I BT (W0 v. ARIEHG Helg e : .

26 (H1G] 296 (O0S
(NCOTZ OIS B =4 (A1 7%, Do AOTOR FgTo
Tl ANGT (ATD A

o OIEPE NI ATNE [[Y B A H(FCO (5P Geldd [Pgib 2o

ii. 2 WAk S9S BR

iii. #ATG Nrard $a9a 85

m

1.A-iv,B-v,C-i D-ii E-iii
2. A-iv,B-ii,C-v,D-iii, E- i
3.A-iii,B-ii,C-i,D-v,E-iv
4. A-iv,B-ii,C-i, D-v E-ii

Options :



5362287045. 1
5362287046. 2
5362287047. 3
5362287048. 4

Question Number : 113 Question Id : 5362281809 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

T *RASARFI (4T ANEAE TN FUNS T2 HFH 91 (B8 P N2 '— JFI6 BIH0S
48 T PG TP A GP-TF=>=TF | &S

1. ATNH BLEIATEIT
2. AT IFA
3. (AIETY BLEIHTEITY

4. RIT*Ta &+ WP

Options :

5362287049. 1
5362287050. 2
5362287051. 3
5362287052. 4

Question Number : 113 Question Id : 5362281809 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

W *FS A (141 ATEAE GiAA) SUYNES W32 AP Gl (BT B W2 I'— T35 [BI3T®
4% TEIIG PLIRLE TFEH A GH- A=A | fof;

1. AIAW™ GLEIATEIT
2. IAH HP

3. (I BLEIEITS
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Options :



5362287049. 1
5362287050. 2
5362287051. 3
5362287052. 4

Question Number : 114 Question Id : 5362281810 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362287053. 1
5362287054. 2
5362287055. 3
5362287056. 4

Question Number : 114 Question Id : 5362281810 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362287053. 1
5362287054. 2
5362287055. 3
5362287056. 4

Question Number : 115 Question Id : 5362281811 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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4, qI=FIH]

Options :

5362287057. 1
5362287058. 2
5362287059. 3
5362287060. 4

Question Number : 115 Question Id : 5362281811 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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4. qIAARIH]

Options :

5362287057. 1
5362287058. 2
5362287059. 3
5362287060. 4

Question Number : 116 Question Id : 5362281812 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362287061. 1
5362287062. 2
5362287063. 3
5362287064. 4

Question Number : 116 Question Id : 5362281812 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

qHER AT GBI THTE NI BRI TS Pl 2

A. STRICGE G (A0 SIT6d TR0 LA <11 FEsAIog STes e f&e o= |

B. NG 566 A9 [NHIPIbE WWIEg W8T Io70s( 5% PLarne JPIPT ATT=EgE
STRATOId We[d 8 A TI9-EHieagern|

C. FS TEa SIS 1A 33 (O 60 TAN—I8 SietF1s] IR OF
ST WEPE S|

D. W 95 At A*Eee G AR5 SEal— AT 551ba Jo-1eids &2
CETS-91T (TS (1A q1 Io7eie -4 BIesfG forg et s isee anerfe|

E. #IHTHd NG IS 73, (155 GePAE=E B0 Tomsi" - @8 Hox 5] |

M H (PO (A-[SPre Faws 8] %, (i’ 26k

1. (P A B 448 C
2. (P91 B, C A9 D
3039 C, D F48 E
4 (P91 A, D G4 E

Options :

5362287061. 1
5362287062. 2
5362287063. 3
5362287064. 4

Question Number : 117 Question Id : 5362281813 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No



Correct Marks : 2 Wrong Marks : 0

A IF 5S4 [T HqHh WAl FIISI6 TFAT A6 (S 2

A. TS *Mf& O S ofonieTor, Bd H{eo] Ofd SIFSNd, NArse=d
Weld|
oI |

C. T AeT-rOR = [STON WIEAHT|

D. WMEF (LZ CNINESHI8 (572 A1e{&a3s S50 Gogr|

- God Mol 2[0H Y80S (7 N [97S ZW0E e TS (2 Fid %
ﬁ@%ﬁ:

1 B.C AL
208, BiD
3.0,A,CB
4.C, D, B A

Options :

5362287065. 1
5362287066. 2
5362287067. 3
5362287068. 4

Question Number : 117 Question Id : 5362281813 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



THAE 9F "Ted [ AT I FIITF6 IBA] ILs (ET 26;

A. AT *Mf& O S ofoneTory, Wd Hdeol Ofd SN, Narssi=d
oAl

B. ST 3 GAa (319 STH GIEA 7, QAN VAT QB2 Fa060
ol |

C. I AE-HM0 R = (Ao W67 |

D. WLEE (M= ARS8 (72 AP eds A0 Gug|

- Tad M [0 T8arad (7 Y s 20IE one IS0 2 FLd 09
ﬁﬁﬁ’ﬁ:

1.B,C A D
2.CABD
30,ACB
4.C, D, B A

Options :

5362287065. 1
5362287066. 2
5362287067. 3
5362287068. 4

Question Number : 118 Question Id : 5362281814 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



ANET AT OITFIT GUAISHIR! & FHited WY 493 ey wifsery sowsef go-
Afdorara GrEy T T4

RIGER RIGEa

A ST LATATYT 7o 8 NG
B. U= 9 ii AU B
CITOTHY 0E i Fd9e BT
D.AHIYE™ (37 iv.rorFg

Soy OIeId WHT A& [[THN T A0S NS00 9P baldd [PHIo =6

1T.A-ii, B-iv, C-i, D-iii

2. A-iii, B-i, C-iv, D-ii

3.A-i, B-iv, C-iii, D-ii

4. A-i0, B-iii, C-ii, D-iv
Options :

5362287069. 1
5362287070. 2
5362287071. 3
5362287072. 4

Question Number : 118 Question Id : 5362281814 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



ITEd AU OIfTHrg GLHISHIE & FHIed WY 93 ey e s el gH-
Afdorarg Gy F1 &4

RIGER RIGEa

A ST LATATYT 7o 8 NG
B. U= 9 ii AU B
CITOTHY 0E i Fd9e BT
D.AHIYE™ (37 iv.rorFg

Soy OIeId WHT A& [[THN T A0S NS00 9P baldd [PHIo =6

1.A-ii, B-iv, C-i, D-iii
2.A-iii, B-i, C-iv, D-ii

3.A-i, B-iv, C-iii, D-ii
4. A-i0, B-iii, C-ii, D-iv
Options :

5362287069. 1
5362287070. 2
5362287071. 3
5362287072. 4

Question Number : 119 Question Id : 5362281815 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

AEOATGIED’ 30E (T (B (RS (Forarerd g AGT=Id Sui®
AT, O] (572 GRILIP Ie1] 2R:

1. MELad wid
2. MiEH ©[E
3. TTS® ok
4, I ol

Options :



5362287073. 1
5362287074. 2
5362287075. 3
5362287076. 4

Question Number : 119 Question Id : 5362281815 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

AEOTSERS 0E (T (B [ (oo Sg AG=Id Suis S
AL, O (2 w9 Ol 911 2R

1. helldgd wid
2, RIS w4
3. TS Ol
4, A9 o=

Options :

5362287073. 1
5362287074.2
5362287075. 3
5362287076. 4

Question Number : 120 Question Id : 5362281816 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



SITE T BT ST a SIS0 &5 -S&F TG (T =4
AT (I AGAITS | FIATD AT 3 LA FI|

B. GG (T SICFPIF o1 T 21T UNS AS2ANO— IR Y|
CH =F AGAIG (T TG TYH |

D FIARIE FroI® ST, BT 751 (ATF GBI

£t {5 Tow =07 BHT G0 ATYE?

e A0 (T [HFOo T3P0 NS &7 (25 24

1. (PITA B AL D
2.(P9B, C, 493 E
3. (PITA D A9 E
4 (P91 B, C 495 D

Options :

5362287077. 1
5362287078. 2
5362287079. 3
5362287080. 4

Question Number : 120 Question Id : 5362281816 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



SITE T BT ST a SIS0 &5 -S&F TG (T =4
AT (I AGAITS | FIATD AT 3 LA FI|

B. GG (T SICFPIF o1 T 21T UNS AS2ANO— IR Y|
CH =F AGAIG (T TG TYH |

D FIARIE FroI® ST, BT 751 (ATF GBI

£t {5 Tow =07 BHT G0 ATYE?

e A0 (T [HFOo T3P0 NS &7 (25 24

1. (PITA B AL D
2.(P9B, C, 493 E
3. (PITA D A9 E
4 (P91 B, C 495 D

Options :

5362287077. 1
5362287078. 2
5362287079. 3
5362287080. 4

Question Number : 121 Question Id : 5362281817 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

O J1Z, T V15, P 15, WY W18, 27 WE — J5AF TS T§ 25T - FHIAF
BAGHAIT S % 9ol (7 FrsnoE Aferam= o1 ==

1. i T F91
2. fn @ o=
3. AGES

R AR Y

Options :
5362287081. 1
5362287082. 2



5362287083. 3
5362287084. 4

Question Number : 121 Question Id : 5362281817 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

W WIZ, T I, I I, Y= F1E, 2+F W% — J5F ANES TH 2B’ - SIS
SAGAT 5ME 4% [F9feft (7 FInEg Aferan it ==

1. 7 T P91
2. fa i o=
3. A1gfRe

4. By Y

Options :

5362287081. 1
5362287082. 2
5362287083. 3
5362287084. 4

Question Number : 122 Question Id : 5362281818 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



TG R¥g=F BANI WIAHH PLIBIb &G-S NS (ST 2:

AT 35 (G~ IR O Frefal ge S ST @ Fidafe |
B 2II7{(3F GRMESAN (ZNF0! (AILHI T4l

C. Ao YA Sy M= @0 I I3

D.OEAIGAT -FHAH=1d ATorGIa 514 IRLI4|

E.Z¥aT #em GreTg [{y 33 o= g 2

2TE HHLO (T [SFOIO 54 FUO 6T &5 G120 =

1. (PFT A B d48 C
2. (P91 B, C AR D
3. (BT A D A4S E
4. (P91 B, C 4R E

Options :

5362287085. 1
5362287086. 2
5362287087. 3
5362287088. 4

Question Number : 122 Question Id : 5362281818 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



TG R¥g=F BANI WIAHH PLIBIb &G-S NS (ST 2:

AT 35 (G~ IR O Frefal ge S ST @ Fidafe |
B.XIFLIT G NWIEASH (2UIS! (ALATHS 11|

C. Ao YA Sy M= @0 I I3

D.OEAIGAT -FHAH=1d ATorGIa 514 IRLI4|

E.2H1 *1=um1 BIerd f[fwc 97 w952 o &)

S A0 (T [RPHG00 59 PAD TSI &G (126 =47

1. (PFT A B d48 C
2. (P91 B, C AR D
3. (BT A D A4S E
4. (P91 B, C 4R E

Options :

5362287085. 1
5362287086. 2
5362287087. 3
5362287088. 4

Question Number : 123 Question Id : 5362281819 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

WY A, A9 GIPT (O WNHE WP (A2 FRIEE NE-9120E S Y=
ROTR B (T BIPE ARNI TINGA el Gi=CaRe, (371G 2.

1. B RNGi[
2. {5 =g
3. MG o 216

4. SNGIZ 2GS

Options :
5362287089. 1




5362287090. 2
5362287091. 3
5362287092. 4

Question Number : 123 Question Id : 5362281819 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

W) JEA0e, D GIPI (O SINTHE HIPIA (R2 SRR [E-A120E GANIT Se)
2011 S0E (3 BT AT TG 0 Gi~CH2e, (6 24

Options :

5362287089. 1
5362287090. 2
5362287091. 3
5362287092. 4

o L P —

Question Number : 124 Question Id : 5362281820 Question Type: MCQ Option Shuffling: No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



TG AT NI 2IH I 76 [ (RS = 19 4B(6 TS 8
SI1G O ACATE e

WET: AT TLFTS F A G 20 T

[ (], FRAFNE WO A4l FFID ANA0 |
T Tib [0 “f{ARFS Nea Siwre B Gadlt =+

1. T8 8 If@ Gois 0%
2. TR 3% 7 &t o
3. TSI g (58 el s
4. T84T 8 Yo GuaE ue

Options :

5362287093. 1
5362287094. 2
5362287095. 3
5362287096. 4

Question Number : 124 Question Id : 5362281820 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

S oNfFRIES AT 2 ST 75 (491 CoHh 2 SEndP e s<).8
WI6 Ol STATE e

TS H{HAE STYETS VA1 S T2 Wl G |

Te (S, FEAEE Wolld w4l [FTd WIiEa|
TR |6 ([0 ARARFS FHT 00 P Gadlt =0

1. 9897 8 Ife Gois 0%
2. TSI P T8 At o
3. 78910 w1 58 &l 3
4. T3] & I Gous ue

Options :
5362287093. 1



5362287094. 2
5362287095. 3
5362287096. 4

Question Number : 125 Question Id : 5362281821 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Vel AIPIAF ‘AP B0 AP WAL PLAPI0 NF AT (TN =6

A. P ESRPINGIFI oA 4 AT [[IPe |

B. (3 ¥ 9% “1G/ Gy o1 OIF Rate S0 PR (6 26 AR (@G
BIGIfe g eheId |

C. WIBLd oy WiE Sremnyd I5d Y [o|

D. "M~ 8 IS 2O NG1H WIF GF 6 NE AP bida ANz

E. FHINGS O B R ASIF (G121 24 5|

PG AP0 (T [PHO0 A4 BIb VS84 &% 16 247

1. (PFeT A A3 C
2. (P C HAE D
3. (P D E9 E
4. (PITA LR D

Options :

5362287097. 1
5362287098. 2
5362287099. 3
5362287100. 4

Question Number : 125 Question Id : 5362281821 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



A AIPIAS QB EMORDT WGP WA PLAPIO WS N6 (ST =67

A, QNP ORGP o1 6 KIS [P |

B. (3 ¥ 9% =G/ G+ SHIOH1Y ©IF Qats JHoe SLIRE (6 261 AEisid (1%
BIGIe g eTeId|

C. WIBLd ey wiE Homnyd I5d N [ow|

D. *RM™ & ISTE! B0 NG W SR N P9 biEa |g|

E. GREITGI ATLSIF B TR IS (741 AT 9MF |

NS HLPLO (T [[PHGLO T4 PI6 NS &G (6 2.

1. (PgeT A 93 C
2. (A C A D
3.(FITD 4R E
4. (FITA LR D

Options :

5362287097. 1
5362287098. 2
5362287099. 3
5362287100. 4

Question Number : 126 Question Id : 5362281822 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

TR ATGIAT BN (TGRS L& TGRS (F 57 SHTIRe, 57 =

1. AMGFF: HAHIT
2. A oS
3.491G 919

4, AL (B4t

Options :
5362287101. 1
5362287102. 2



5362287103. 3
5362287104. 4

Question Number : 126 Question Id : 5362281822 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

HTYF ATHIAr BHAICH (QTETGISIE - SMUGTATAS (515 STHRe, (57 2.

1. AGP T ST
2. A onfer®

3. 905 9l

4. A= gt

Options :

5362287101. 1
5362287102. 2
5362287103. 3
5362287104. 4

Question Number : 127 Question Id : 5362281823 Question Type:: MCQ Option Shuffling,: No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

ZIR *TE! 5RO 8 0O G (REEPI5 GX o0 AL (250 el
(4TI 2575 WIS Ol I6(Eo] Ze:

1. 99F M
2. O™
3. 3429
4. *IfF=m

Options :

5362287105. 1

5362287106. 2

5362287107. 3

5362287108. 4



Question Number : 127 Question Id : 5362281823 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

22TV AT M RO 8 TS NG (RefeiG sXMfea W (3 *mitrs g
(4TI 2[5 W OIF I6100] 20ew:

1. GIBAM
2. OFAH
3, ST
4, *E{H

Options :

5362287105. 1
5362287106. 2
5362287107. 3
5362287108. 4

Question Number : 128 Question Id : 5362281824 Question Type : MCQ,Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

E TIATH-TaT A (TP FLAFD A1P) OHYS 247:

A TSRS RIS TSR A (ST |

B._tFe1d Mt Fmnes I+ ol

C TGt GRS SIS (IR 90 (N 24|

D. T AFICAE BIFOIH GIF TF Jh2 Il (BifFe Irar w341

ESIHICE (T (S &A1 (5|

TIHAN-TLar 0% ARSI (T 0N A0, NIhd TiH00 Ol 3% [ISgib 20

T E B, A6
280 C ER
3. B.ACE €D
4.C A BDE

Options :



5362287109. 1
5362287110. 2
5362287111.3
5362287112. 4

Question Number : 128 Question Id : 5362281824 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

T TIAH-TLal A% (AT FLAFO 1) GHYS =4:
AR GRS ST20d A0 (ST |

B.RIFe1a ML PANEd I9d TRl

C Gt GG G (FIE 90 (N 24|

D. T HHI12 SIgodEd G M4 G493 S (GIF8 T4l F4|

ESI{AI0E (90 (7 20 (51|

TIAN-TLa1 A0S AR (7 SPLA A0, NIthd S3iP00 Old 2% 9Pl 24,

T EB. AR
2ADCEB
3. B.ACEED
4. C A B D E

Options :

5362287109. 1
5362287110. 2
5362287111.3
5362287112. 4

Question Number : 129 Question Id : 5362281825 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



'(OIGIE BRI W G SR PIIAPIE WG -A®7 TSI A6 (REH =4
A. fORIT WE SIS NGR4T (FI SHONE SATNI T4
B. (BIGIE ST 3! ISP AW (MUY [ASGRE WHF SO
C. OIS T CCHAT SHIT NIC 4T FIGCO TF Yoo A5 Yeq(p
D. SFATHG T (AF G A8 (GIOIEIE WIIRT (TP O BBl AR
E. W{TGIY ToTY (98w &g ~IY =7 ST&!
S AP0 (T [RPFG00 B0 TBAT &%, (16 26

1. (BT E 445 C
2. (FITB A1 D
3.(FIT A 449 B
4 (FITD AR E

Options :

5362287113. 1
5362287114. 2
5362287115.3
5362287116. 4

Question Number : 129 Question Id : 5362281825 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



'(OIGIE BRI W G SR PIIAPIE WG -A®7 TSI A6 (REH =4
A. fORIT WE SIS NGR4T (FI SHONE SATNI T4
B. (BIGIE ST 3! ISP AW (MUY [ASGRE WHF SO
C. OIS T CCHAT SHIT NIC 4T FIGCO TF Yoo A5 Yeq(p
D. SFATHG T (AF G A8 (GIOIEIE WIIRT (TP O BBl AR
E. W{TGIY ToTY (98w &g ~IY =7 ST&!
S AP0 (T [RPFG00 B0 TBAT &%, (16 26

1. (BT E 445 C
2. (FITB A1 D
3.(FIT A 449 B
4 (FITD AR E

Options :

5362287113. 1
5362287114. 2
5362287115.3
5362287116. 4

Question Number : 130 Question Id : 5362281826 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

OIEOLIHT WA ST AP (a2 FE TN F1 (@Mie 19 w0
IR, (10 o0

1. GedMP

2. [

3, S5 ame
4. iiEpm

Options :
5362287117. 1
5362287118. 2



5362287119. 3
5362287120. 4

Question Number : 130 Question Id : 5362281826 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

I G ) 7] s MRS 2 B o 5 | ) [ o 5 | s o o M RN S S L R R T |
IR, (G ==

1. Geam®

2. [

3. APEAMD

4, MEFTMD
Options :
5362287117. 1
5362287118. 2

5362287119. 3
5362287120. 4

Question Number : 131 Question Id : 5362281827 Question/Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

GIEI TS G (T3 GIod (T TF, STHIS (O [@5.8 (N ARG |
TSR 7 RFEATT (7 2ETE WINH Y A5 TG e, (it =4

1. ¥t w=igTg
2. it wfd=erg
3. 7% 8 58

4, CT=0HT T

Options :
5362287121. 1
5362287122.2




5362287123.3
5362287124. 4

Question Number : 131 Question Id : 5362281827 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

GIEd TNSG (T3 GIod (T TG, STHIS (O @58 (N SAR[TIF |
STl g oEmEald (7 S[A0E WaINEmAY g% SUG g, (G 26

1. ity w=ig<wTg
2. ity wfg=eTd
3. 918 & JiE

4. g ST

Options :

5362287121. 1
5362287122.2
5362287123. 3
5362287124. 4

Question Number : 132 Question Id : 5362281828 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



O3 PRTOG WGTF PLI AIE PLAPIb BFH-W&F TE<) (M8 2%
A. THG *OIF TN IR ST |

B. W&~ W@ *1 09 (J11Y ST e |

C. =Y SN Tfoblarer RO *NeLad 3P0 M|

D. TAGGE *TNF FIFM0 (A |

E. SNHAYN *rqenad "IN Meafata= S|

HE H(H0O (T PHOME TIP0 NEAT &%, (5710 =e:

1. (PdeT A, B 443 C
2. (g B, C AL D
3.(PI C, D A4 E
4, (P91 D, E A48 A
Options :
5362287125. 1
5362287126. 2

5362287127.3
5362287128. 4

Question Number : 132 Question Id : 5362281828 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



O3 PRTOG WGTF PLI AIE PLAPIb BFH-W&F TE<) (M8 2%
A. THG *OIF TN IR ST |

B. W&~ W@ *1 09 (J11Y ST e |

C. =Y SN Tfoblarer RO *NeLad 3P0 M|

D. TAGGE *TNF FIFM0 (A |

E. SNHAYN *rqenad "IN Meafata= S|

HE H(H0O (T PHOME TIP0 NEAT &%, (5710 =e:

1. (PdeT A, B 443 C
2. (g B, C AL D
3.(PI C, D A4 E
4, (P91 D, E A48 A
Options :
5362287125. 1
5362287126. 2

5362287127.3
5362287128. 4

Question Number : 133 Question Id : 5362281829 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

6 (7 *=i5 [ O *wd 78 (116 24T

(RS PIES

2. LNl

3. FSTosTmI

4. SrGI™
Options :
5362287129. 1

5362287130. 2
5362287131.3



5362287132. 4

Question Number : 133 Question Id : 5362281829 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

ITE (T *1=A0G [QUAl* 98 #1319 HES G 2
1. PT1%

Options :

5362287129. 1
5362287130. 2
5362287131. 3
5362287132. 4

Question Number : 134 Question Id : 5362281830 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



HOAS BT AL WA o el FTF FLHR0 NS 1T (ST ==
A. ORI PP BIRTO IR RRFCRH, 2FTA AR 42 PPN 391 W SRl
ofelrolg |

B. X WHGH O] 9ibLd 493 (STE(G (MUIE1E GiI2 WA= [[4ToTd STk 253 SR
C. 4 Bl SEATPE B! SIRMAT TOTE DIHC ATLHC NI DI (0N (P
A

D. T (GF WY G5RIH OEE S w01R B0 S |

S FTHLS GAN A2 TS Sd 0 Fiud &F (a6 2.

A D, CB
.B,A D C
.D, B, C A
.C, B A D

B

Options :

5362287133. 1
5362287134.2
5362287135.3
5362287136. 4

Question Number : 134 Question Id : 5362281830 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



HOAS BT AL WA o el FTF FLHR0 NS 1T (ST ==
A. ORI PP BIRTO IR RRFCRH, 2FTA AR 42 PPN 391 W SRl
ofelrolg |

B. X WHGH O] 9ibLd 493 (STE(G (MUIE1E GiI2 WA= [[4ToTd STk 253 SR
C. 4 Bl SEATPE B! SIRMAT TOTE DIHC ATLHC NI DI (0N (P
A

D. T (GF WY G5RIH OEE S w01R B0 S |

S FTHLS GAN A2 TS Sd 0 Fiud &F (a6 2.

A D, CB
.B,A D C
.D, B, C A
.C, B A D

B

Options :

5362287133. 1
5362287134.2
5362287135.3
5362287136. 4

Question Number : 135 Question Id : 5362281831 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



W barded AR FIE N o A sfdahd Tma T b e
DI GINE T (741 (T IS /o7 (S0 819

A. TR

B. 4T~ WGIA

C. FAofs- #12 Q0T graa

D. PPd
AMET A (P@ (AP OItnd Wiidwad (5F wrag wg Gt =

1.5 B, B, €
286 B, A
3.5, 0D,AB
4B, ADC

Options :

5362287137. 1
5362287138.2
5362287139. 3
5362287140. 4

Question Number : 135 Question Id : 5362281831 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



W barded AR FIE N o A sfdahd Tma T b e
DI GINE T (741 (T IS /o7 (S0 819

A. TR

B. 4T~ WGIA

C. FAofs- #12 Q0T graa

D. PPd
AMET A (P@ (AP OItnd Wiidwad (5F wrag wg Gt =

1.5 B, B, €
286 B, A
3.CD,AB
4B, ADC

Options :

5362287137. 1
5362287138.2
5362287139. 3
5362287140. 4

Question Number : 136 Question Id : 5362281832 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

FAEANLT 2O TG (I-290F [Tr=ifog ©a1 Img, W= oMg ARG oo
THYS AR

1. Oy

2. O™y & 2@y

3, MROE

4, RepTi=)
Options :
5362287141. 1




5362287142.2
5362287143. 3
5362287144. 4

Question Number : 136 Question Id : 5362281832 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

AT ARy ATEF (I-2F0F FAT-To7 ©J IWF, W= O ARG W0
SRy 2T,

1. CTtaTg
.W@Wﬁi‘_ﬂf
N HETUIS 4
EREIED)

Options :

5362287141. 1
5362287142. 2
5362287143.3
5362287144. 4

How

Question Number : 137 Question Id : 5362281833 Question Type: MCQ Option Shuffling: No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



RN ST FLIBI0 2N I3 ory OlfeTer [Fg WesHIad Ay Gy a1 240
LIGEN LlIGEaE]

FN R R E R 1 1 B o A B o B <

B. W1 PN 90+ [Groe] *Mane™. i, /T={do Fo/%

C. Wi GGl 2%, (I o5 iii o
D. NAGLPIE DI A iv. S APTADLATE]
SFIAA TAF
E. T191q= (i Prvaia o2l S
TG FE WIS (igE ©1ez ) | s

Doy Ol YT ATNET [F4H FF A0e P00 05 beldd 4Igio a0

1.A-,B-v,C-iv, D-ii, Bl
2A-v,B-ii,C-iv, D-jil, E-1i
3.A-iv,B-i,C-v, DANEEE

4. A-ii,B-iii,C-v, B=-INE- i
Options :
5362287145. 1

5362287146. 2
5362287147. 3
5362287148. 4

Question Number : 137 Question Id : 5362281833 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



RN ST FLIBI0 2N I3 ory OlfeTer [Fg WesHIad Ay Gy a1 240
LIGEN LlIGEaE]

FN R R E R 1 1 B o A B o B <

B. W1 PN 90+ [Groe] *Mane™. i, /T={do Fo/%

C. Wi GGl 2%, (I o5 iii o
D. NAGLPIE DI A iv. S APTADLATE]
SFIAA TAF
E. T191q= (i Prvaia o2l S
TG FE WIS (igE ©1ez ) | s

Doy Ol YT ATNET [F4H FF A0e P00 05 beldd 4Igio a0

1.A-,B-v,C-iv, D-ii, Bl
2A-v,B-ii,C-iv, D-jil, E-1i
3.A-iv,B-i,C-v, DANEEE

4. A-ii,B-iii,C-v, B=-INE- i
Options :
5362287145. 1

5362287146. 2
5362287147. 3
5362287148. 4

Question Number : 138 Question Id : 5362281834 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



S ¥G PIATT W@ o diworaleg e (1 Rz g e «mes gy,
WG ==

SEIGE]|
. (TNE

e
e

Options :

5362287149. 1
5362287150. 2
5362287151. 3
5362287152. 4

oo

Question Number : 138 Question Id : 5362281834 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

¥ PATT WG e Praorsferg e (36 REa- (5 IO EH 9,
G ==

IR IGE
2. (FINTE
3. Hd
]
Options :
5362287149. 1
5362287150. 2
5362287151.3
5362287152. 4

Question Number : 139 Question Id : 5362281835 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



(FIRA I8 MG A[eT Mo 5108 5EE 412 (3 W WiEes, (3G 290

1.4 %51 &

2. TR

3. *T@HIel

4. SToIEat
Options :
5362287153. 1
5362287154.2

5362287155.3
5362287156. 4

Question Number : 139 Question Id : 5362281835 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

(a8 Hrmg +ifdpe Mee (5101 saeig a2 (7 = S, (it 24

1.4 %51 &

2. FoRI

3. *TETe

4. SToIEat
Options :
5362287153. 1
5362287154. 2

5362287155.3
5362287156. 4

Question Number : 140 Question Id : 5362281836 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



TG BRI AT WIATHA PLAPIO S-S &7 NI4T (8T 24,

A ZOR YT (UL, SE0E Haare T GEl =00 6— Ja0ed Gle

B.HCST SRS 16 T (5108 1% (11 G T2 A HG-— A4AIIF Of e
C.OIE SIS SN Gl OE Oy AAMGro— JEAee (@™

D Alf= fr (o7 2o =(® SI0E R W BI2— S9tAtad Gler

E. TSI MG (I SIS (300 WF (J00 Ad— Bitag Sisarsy

ora 0o (F [eahre 79 F36 183 &5 136 =4

1. (F9TA BIARRE
2.(P4<1B, D d4S E
3.(F9TA BARD
4 (PIeT A CER D

Options :

5362287157. 1
5362287158. 2
5362287159. 3
5362287160. 4

Question Number : 140 Question Id : 5362281836 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



TG BRI AT WIATHA PLAPIO S-S &7 NI4T (8T 24,

A ZOR YT (UL, SE0E Haare T GEl =00 6— Ja0ed Gle

B.HCST SRS 16 T (5108 1% (11 G T2 A HG-— A4AIIF Of e
C.OIE SIS SN Gl OE Oy AAMGro— JEAee (@™

D Alf= fr (o7 2o =(® SI0E R W BI2— S9tAtad Gler

E. TSI MG (I SIS (300 WF (J00 Ad— Bitag Sisarsy

ora 0o (F [eahre 79 F36 183 &5 136 =4

1. (F9TA BIARRE
2.(P4<1B, D d4S E
3.(F9TA BARD
4 (PIeT A CER D

Options :

5362287157. 1
5362287158. 2
5362287159. 3
5362287160. 4

Sub-Section Number : 2
Sub-Section Id : 53622871
Question Shuffling Allowed : Yes

Question Id : 5362281837 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (141 to 145)

Question Label : Comprehension

e AT TR ST T | AFTS! AN 92 SIS WIAF R ©ad Aro T

SEEd AN 99 27 Teid @7 [Rasmrwg @9t afergd 906 Mewra) st «ifdam i aef
FINE, 92 [FT IR AN SIS WA FAG0 493 ANEHE o7 9T won JesArs
AATAFAN WA ARTFIGN | [REAFAG AOTIZ ITNARA e FAFOE (PRs STFES FATo|
W AL[FIRE N FGIKEoA (HE FE8 00 W (@r==g (s [ew| o0 95




W (Mo 7o 29 (AGT0, @A CTEG WOl @HAIGH oONTd N IS RE| AFo 8
T O SAST gsfiesm o 5@ Imiuss Aled WoE 456 WG Afedag Sy 1@
BT, #ig eTg @11 a1 J7 o =19 [REeEmg o1 THHEre s onmes 4=
fAEf® G 443 (ATETH TG FAFE WAN© MR- | [FAneg “fE31nag Hes g
G GUdfgs Fe-pifery 8 w47 BEo-2oadiy sikEfog i =y neg =ife &y g% &
(ROT-E-23P0T | fTmIIGAl SToefe-Saf5-r "IN JF6 FRIAE Fo1 Fa-| =g «rat
ST TFGH ATE] NReAF FPICR ZLANG PIUNREN A9 AP AaHA1Y TN PURE AU ZHGH
TS TR | TP NICMATAT RNy e A{angg NRaae W Aoy |

NHEAY T4 OB (JT Y O 7 435 AN & SYP Ford TOCRH 2oz ©fF [{eery
AT Fﬁﬂ DGR RCER GW@%%W o 209 <€) w=m=7 20 =4 AT ﬁ@f Pickwick Papers,
PEAIZHA-49 Sartor Resartes <43 Hero and Hero-Worship, TPy RS [ Representative Man & Wﬂﬁ
e [AFe G| B 59d @8 A9 VoI Rivag (Na Sithd A1EdE e a5 R Siinm
(g ﬁ‘_ﬁm wig f2rg f@fl B0Gd Annals and Antiquitics of Rajasthan- 8 I P "] E%Ef@[l

A THAGER [Ofs e 26T 8 AMBILerd TPy i Sy HiGer| 2,3 493 (6= wi¥
YMRCOTE AT FMHE o1 G TGRS OftHd W4y SteS (A6, 76, (=05,
CTA==eTE, &%, 86, Rox a9 =PI Sl SREE T History-ef Philesaphy 493 ZNFGLAT
Metaphysicsﬁﬁw&ww&ﬁﬁl

FESUW STHIIT T AProg AT 495 AT AT TNILT Wold, SIAFET 8 S [T
e wFel ©fF Sy =% =7 e {4 9o o= {EGm oo CoE-93 1 s oS W)
Th T -9 Wiy 99 oG o7 uRkeeie ofs qp 2efgE srafzeety REsmma (17
WA 493 SIaod G0 SO0 WIeifs U001 CANEd HSdE NG GG | Nl 9% Wy 8
fe@reT T ©id Tfegie (Ol FERA| O 71 [Fgd 6l o B wge Fford 95 [em oy
Y ATN TS AHIS A5 TV T HE|

Sub questions

Question Number : 141 Question Id : 5362281838 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



TVY® SIS SBTAL ITole-Od e SIRIE To-1 P REA:

1. fas= wis g orat

2. T2 Wied *ral

3. (ST Wed *ral

4. GG CACIT 1At

Options :

5362287161. 1
5362287162. 2
5362287163.3
5362287164. 4

Question Number : 142 Question Id : 5362281839 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

CRYS SIS (NP NITH AN BT PLAPI0 ATE AN 8 (G0 Ol PP
(T TN (RO =40

IGEIR QIGESS

. (235 oI feage: .

B. T8 At W G i

C. (NI iii. GUIRTHS
D. "HATGUGoS WIH: iv. fe

GOl TN A4 $F ANS (PO 2P Geldd [APgin 20

T.A-ii,B-iv,C-i, D-ii
2 A-ii,B-iv, C-ii, D-i
3.A-iL,B-ii,C-iii, D-iv
4 A-ii,B-iii,C-i, D-iv

Options :

5362287165. 1

5362287166. 2



5362287167. 3
5362287168. 4

Question Number : 143 Question Id : 5362281840 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

ST WALHRN WA PLAPIb SF- &G TF (8T 24

A, 129 (oG 96-493 % 1% e IGIaears- (9|

B. LAY foroTz T5M2fs STd onsl Srara|

C. HedINGd NRAR NPT AT RANArg &= (o=
D. (ROTH-3-T/1 0 [AIFMIRI Wie (247 % 5|

E. 911 (g Raswe T8t [{AEasmeg /ai=id Vo< &l
S (P00 (7 [RPFI000 AIHIb B &F (FD =20

(P A CERRD
.(P9<1B, D A4S E
(PETABARD
. (P91B, C F43 E

B

Options :

5362287169. 1
5362287170. 2
5362287171. 3
5362287172. 4

Question Number : 144 Question Id : 5362281841 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



GHYS Al M6 (9319 (ST 2, 914 (0 T84T 8 WG OId ACATE Jfer:
WAL AARoely & BRod JrE Iferg [Rgsmong s &)
fe: FEG ol B6 & RO o |

GAAA 76 [[RYM0F ARAFFTS [ T (0o 5 Gedlb 24

1. T\ & Ife Soiz 5
2. SANG 3% @ T&ib o
3. G oo 58 L& 5
4. YBA] & Yo BoAZ Ged

Options :

5362287173. 1
5362287174.2
5362287175. 3
5362287176. 4

Question Number : 145 Question Id : 5362281842 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

THYS W (TP PLAPGH W91 1 B34 T 26T,

A. CTTA=ISTIE

B. {3

C. FT0

D. T

E. G051

AHR FTFO (AT SHYS W0 BLATHT TS (9 ([TFFI6 24

LA EC.BD
2.C,EA DB
3.C,AEDB
4.C,EBAD

Options :



5362287177. 1
5362287178.2
5362287179. 3
5362287180. 4

Question Id : 5362281837 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (141 to 145)

Question Label : Comprehension

e AT TR ST T | AFTS! AN 92 SIS WIAF R ©ad Aro T

SEA ST 90 2 SN 57 [aemime U afergd 996 Mewra| simg «fd@a & el
FAE, X SFY TR AT SIS WA FAFo. 493 IHAEFEE qor 78 a9 IfeafEs
HUNPIAN WA AZFI | MEFH Aoz ANNET e, S (Pllo. SIS PACO|
W A FIME W) AGINCATEA (919 SIS N0 WA (Sreig GEErs Qs = a5
@1@?{ (ST WS ii—ﬁmﬁ‘aﬁ; ﬂ%ﬁ M@HWW@WWT@MM leqh@ 8

....

ﬁEﬁ"fﬁlWﬁﬁx tmﬂmww e |;ﬁ‘gwrt@ A m\ﬁvfﬁm
G BUaRe -y 8 Wa R9g-20LaIA mﬁ# sl | ﬁﬁﬁ*w wfe.form % foe
(FOT-B- 20y | ARGl STosie-waisar Wﬂﬁ%aﬂmﬁmm@mmmwﬁﬁ
GANHAT GG ATE] U2 S0y 230 FTRE 99s e NaH-1Y WIHE SRz AT 2:E6d
1S TGS | eI S9TeIag Repaerd we Sffdangg vEamse 9 A |

TEHAY TYN FOS (AT Tg 04 75 13 26 8 WgF 09 2EEd 2oz ofg [ew
AT %l DGR RCER GW@@T&W wfq f2rg wf91 w=m=y f20" =4 qTHT T?%T Pickwick Papers,
PeAI2A-a9 Sartor Resartes d98 Hero and Hero -Worship, TP B [ Representative Man & TETo- 49
e [ETe BN | B9 799 @9 A9z WoIPId ANy (g ©ftng “iHaiEe 9 e | Sinm
(HICE4d ﬁ‘_I{W oig forg fﬁfl BUGE Annals and Antiquities of Rajasthan-Ad S~ 2™ Y4E %TI

AT WHAB6IE fofs fEe ST @ Sororg eIty ofg @y onfGer| 20 93: (oW 7T @
S 1T = |1 1 B 1 1 = 1 = e 1) £ ) (= B [ R o = [ A G R I8




ORISR, &%, e, RGN 49 (=Ed| GIEFes- <& History of Philosophy 445 %] REGIE
Metaphysics O ATOIPE AEHS (2|

TGN FYET WO APfog WU q95 NG G FNT Wold, FrEET 8 Gramsy {90y
Iea el g Ty =R =7 NEq 8 aoig o= GEfGm e o@E-93 W A0S 9F W)
Th T -9 Wiy 99 oG o7 uRkeeie ofs qp 2efgE srafzeety REsmma (17
W 492 SIA0 JrT IO S TI001 (RIEE 2SIaE 9G SR | WAl (399 W4T 8
fPEreRn 9fF e IS (O FLARA| Od 74 [Fgd Gt fof B ooy 2fermg 9% [ «y
YU AN Hald ARSI 210 AFA |

Sub questions

Question Number : 141 Question Id : 5362281838 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

THYS SIS SSTAL SIoele -Odisial SIa1aE o7 SLEBe:

1. Iy Aied oral

2. 75l ted ral

3. (O WTed el

4, GG (NUEG Hal

Options :

5362287161. 1
5362287162. 2
5362287163. 3
5362287164. 4

Question Number : 142 Question Id : 5362281839 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



TRYS STWI1s™ (YT NG ALY ST FLIBI0 ATEI AN & [Gory ofasry S
(UG AN (RO =1:

BIGEOR BIGEIE

. 1215 o fraai APGEE

B. T8 901G == fFfefG i, T

C. ‘(NI iii. GUIRSTH
D. ‘HATGCGioS W= iv, Te

SOl MTNEH [T FF ANS (P00 2 Oeldd K90 20

1T.A-iii,B-iv,C-i, D-ii
2. A-iii,B-iv,C-ii, D-i
3.A-i,B-ii, C-iii, D-iv
4 A-ii,B-iii,C-i, D-iv
Options :
5362287165. 1

5362287166. 2
5362287167. 3
5362287168. 4 a a

Question Number : 143 Question Id : 5362281840 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



ST WLHRR WIS SLEP0 WF- W& T@dy (aT 26

A. 129 (AT 0-99 o T [ReT IrGIQCes (||

B. WIS [F@raz Y5l 2{s SeSd ©19f Srafgie=|

C. TadIGd MR NI SR R aery o fArew|
D. (ROT-2-2P G [[FIPMIHE W (57 3% 2|

E. fsifa=r cam=g et F1il f[Araemi=ig *miwd Ao Bl
2 A0 (7 PR A3 NS & F (16 24

1. (PITA CEd5 D
2.(P91B, D &4 E
3.(PITA BAAR D
4 (P91 B, C L4 E

Options :

5362287169. 1
5362287170. 2
5362287171. 3
5362287172. 4

Question Number : 144 Question Id : 5362281841 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

GHY® IT6 ¥iG [R3M0 (8T =4, 9 4516 T8 & WG ©Id ST I
TEQT: LAz oely & oRed & Ifete [REFmemg oefe &l
Ther: SIE ol 6 & REY AT |

TR Tib [[RY10F ARARFS FIE 00 55 Gedls 20

1. W8] 8 I BoIk (B
2. TSI 3% g L&t oo
3. B0 o (58 Lo 7
4. M85 8 & GoiE el

Options :



5362287173. 1
5362287174.2
5362287175. 3
5362287176. 4

Question Number : 145 Question Id : 5362281842 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

CHYS W2 (ATH PLIPOH U919 AT STy FT 240
A. CTCH=ISTE

B. f3&

C. TG

D. ¥

E. (X051
A H(PW (AP GY© W BLENT LS D [P 2o

LA ECRB DB
2C EADB
3.C,AEDEB
4.CEBAD

Options :

5362287177. 1
5362287178.2
5362287179. 3
5362287180. 4

Sub-Section Number : 3
Sub-Section Id : 53622872
Question Shuffling Allowed : Yes

Question Id : 5362281843 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (146 to 150)



Question Label : Comprehension

e gFI0 STRITSST (RO T I | ATl S a2 SIS I O g d Fa00 2T |

QT G- A AFE GoNTe M& T =7 9993 (@R | VHTT AAT AP0 (TR &5 *ratHa (STl
B (Y| IR WGTN™E (5954), TAUE6E (5923), WG (390ay), i E (5900)- 49 TEmaAfoy
NHII-43 WAGE| WH9T-43 AT & GO T24F (I Doy 8 5o M%a ©Eg oo 2raa
O iy AN WIg| e GrelaE AfTAFIG ATSFIRE T ST (Flelae | YT S34 (AHE
8 e TS 3 o B B 4 o | A I < S - R D | BV ) B P e B | e B A A BRI
HFEN TR AT YT (ATFE 7 T4 WHERGO Qo 20| 4G S Pind Hidn- ez 409
(ST T [T G943 SPAATOF S (AT (FHIG P (@4 =S AT O S0 B (NS JoT 1@ (HE |
for X s 9F UG AGFm YHo =0 aF | OF s A GFE FTarens &4 S0\ FIpP:
SlEw qw | AN I SISCSMG] STRIEICE] RLae: (eIl (A (741 & 2RO U920
=S AT | FTOIF AN Gs 2H00) FHET O AH-HIE00 36t Srne 23] 3% S 20
ﬁWWH\WCWWWWHW@W ¥ o1 © GBIl | R e
oy el (raf® SRR SR A95 O Y T R 2R PCATHE STV PTG
IR I (@RET, 2200 (PN G0 ' | T S0 A G
(PSP W oNg-TNLAGNF ST [S @y Heh FEERR @fﬂrﬁﬂ%mm@m
IR FHET S HGNGEE PN HIo0O (4IPS
N | NGIGE WWWWW&I&?WW ﬁﬂmWﬁﬁnw ﬁﬂﬂmm
A 2T (T0 (Y I TS0 JG2 WYAFE oF [Forg F47 (AT NIBhenis’ 5l 49
AFFE AYTOA TR =f T A0 IW OF THRY | N T OF S B
OIS - 47 “dd IMA| 4% Al G @(4F-ofaery [ afema v sfa Ram oftig i
AT *MFl, OB NE GG, (IPEE (YR, CONImINES LA, Massag 9F,
WENHAY H5d, TGS SOIHTT Y TSI (T FIGT N ey Frafgre-, fRrate 8
ACICFI TG | oA AR EIe e el O 9@ -3 @0efd o o=y
T XF 466 (RTHSNE I & (ANETT WoAF2 (@4 oI I 47 W =01 9 W=
AT ATIACIE SFlrPIY A8 FITGILI G [P-Z 94 AOI5F] YFD |

Sub questions




Question Number : 146 Question Id : 5362281844 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

1. SRS

2. g segzs
3, (@i

4. H=FH

Options :

5362287181. 1
5362287182.2
5362287183. 3
5362287184. 4

Question Number : 147 Question Id : 5362281845 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

- iore AfGwE aAfSsisad Ta7 & A I (TR @ity s

1. o 9
2. fasty o
3, Doy 9%
4, oo 9%

Options :

5362287185. 1
5362287186. 2
5362287187. 3
5362287188. 4

Question Number : 148 Question Id : 5362281846 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



God GUY® STITTE S0 NIt BLAPIG S-S &g T8d] (ReH 26

A, WIHRT- A9 FHRAE SUH (AHSNE I & (NG WO (BIA]-A]- (I
AT T (Rl — O WA+ Fdl TF|

B. AfZIMHF AT T WIS M (AP AP W3t 2 T

C. ANITOF N GLEIPTHIHE W00l W 99+ [F4iew O3 MFbowendz 960 917 ©Rog
A0S NIHTF -4 WA 29|

D. WITNE AFH N A G (B IFENIE RTHEIad FI97G | &Y AGATOE ~F,
[RITIGIE BIGT ST (P Wo~*E I (BT TR CTY AP0 79 = |

E. WIBRS (S ATGHI 2138 Ao (AR

AW@ NP (I-[[FHgore 9t Tad) &, (G =

1. (P A, B 448 C
2. (P91 B, CE95 D
3.0P9E C, D Fd8 E
4 (P]e1E A G4 B

Options :

5362287189. 1
5362287190. 2
5362287191. 3
5362287192. 4

Question Number : 149 Question Id : 5362281847 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



CHYO STRITS®! (TP NG PIRPI0 &%- W8T VBT (ST =24

A, BT TSI WGP 4T FHET ot & =

B. WIHNF ATABIF AU B ZTAT S v20-49 WHTFF TS ~H|

C. 2 AT HIF (T G2 AR 06 W0 $A1d (29 S|

D. TIHRAIGS G 4o M &Tar *@ifb @ AINEeotad Tar (dRR|
E. NIBIG518’ FeTas AT Ol d(a BIe (74 29 |

HHE H:(Plw (I-Reghre 9’ T8d &7, (3G =

1. (FFTA B IR C
2.(P4e1B, C AR D
3.(F4EIC, D FIRRE
4 (PITE AR B

Options :

5362287193. 1
5362287194.2
5362287195. 3
5362287196. 4

Question Number : 150 Question Id : 5362281848 Question Type : MEQ Option;Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



THY® ST (TP NITE TG €90 (e =4, TH 496 B & W0 OiF ATATH
e

NS B 5 AP AT AT GO (@74 AP FES AT T

Tfer: o ATGHE THEY FANG (Ui Ba wFrege, 139 (I T961ad
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Question Number : 146 Question Id : 5362281844 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Correct Marks : 2 Wrong Marks : 0

(T-S2 2500 ATFFE AR T 8 IS I (1150 =0 Iom T Sigam <4

1. o 7%
2. fgotg o
3. porg 9%
4. 7o

Options :

5362287185. 1
5362287186. 2
5362287187. 3
5362287188. 4

Question Number : 148 Question Id : 5362281846 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



God GUY® STITTE S0 NIt BLAPIG S-S &g T8d] (ReH 26

A, WIHRT- A9 FHRAE SUH (AHSNE I & (NG WO (BIA]-A]- (I
AT T (Rl — O WA+ Fdl TF|

B. AfZIMHF AT T WIS M (AP AP W3t 2 T

C. ANITOF N GLEIPTHIHE W00l W 99+ [F4iew O3 MFbowendz 960 917 ©Rog
A0S NIHTF -4 WA 29|

D. WITNE AFH N A G (B IFENIE RTHEIad FI97G | &Y AGATOE ~F,
[RITIGIE BIGT ST (P Wo~*E I (BT TR CTY AP0 79 = |

E. WIBRS (S ATGHI 2138 Ao (AR

AW@ NP (I-[[FHgore 9t Tad) &, (G =

1. (P A, B 448 C
2. (P91 B, CE95 D
3.0P9E C, D Fd8 E
4 (P]e1E A G4 B

Options :

5362287189. 1
5362287190. 2
5362287191. 3
5362287192. 4

Question Number : 149 Question Id : 5362281847 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 150 Question Id : 5362281848 Question Type : MEQ Option;Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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